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Register No.

H 1375 HVA/HBAA/HAIA/HB1A/HC1A/HD1A/
CHA1A/CHBI1A/CHC1A/CHDIA

B.A., LL.B. (Hons.)/B.Com., B.L., (Hons.)/B.Com., LL.B. (Hons.)/
B.Al, B.L. (Hons.)/B.B.A_, LL.B. (Hons)/B.C.A., LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted from 2011 to 20 17)
First Year — First Semester
ENGLISH -1
Time : 21 hours Maximum : 70 marks
PART A — (2 x 10 = 20 marks)

i 1. Answer TWO of the following in about 500 words each.
(a) Give a summary of the story “Hypotheses of Failure”.
(b) ‘Portia’s entry changed the fate of Antonio and Shylock’. Elucidate.

() Can Law be a jealous mistress in a Globalised world?
PART B — (5 x 3 = 15 marks)

2. Annotate FIVE of the following.

(a) Like other tyrannies, the tyranny of the majority was at first, and
is still vulgarly, held in dread.

(b) Money is generally a corrupting force because it binds men to the
> mstitutions and the government responsible for unjust practices
and policies.

(¢) Therefore it is that I would say that the interpretation given to
socialism and the implementation of socialism are not leading us
towards socialism.

(d) One of the fathers, in great severity, .called poesy vinum
doemonum.

(e) Now we are engaged in a great civil war testing whether that
nation or any nation so conceived and so dedicated, can long
endure.

() Take then thy bond, take thou thy pound of flesh.
(g) Stock your mind with the deposit of much good reading.

[P.T.0]




PART C — (20 marks)

LINGUISTICS
Answer TWO of the following in about 250 words each : 2x5=10)
(a)
(b)
(©

Trace the development of English during the ancient period.
Explain Etymology and Semantics.

Make an analysis about the Christian influence on English
language.

PHONETICS - (10 marks)

Answer THREE of the following : o =)
(a) How many speech sounds are there in English language?
(o) Explain BBC classification of vowels.
(¢) Define Phonetics. j
(d) Give the broad consonantal divisions.
Transcribe the following sentences : (2 x 2=4)
(a) While speaking there should be clarity.
(b) I will go to my native place for vacation.

PART D — (15 marks)

GRAMMAR

Make sentences using the pairs of words given below : (6x1=D5)
(a) Eminent — Imminent
(b) Confirm — conform
(c) Wave — Waive
(d) Junction — Juncture
(e) Industrial — Industrious
Frame sentences using the idioms given below : BGx1=D5)
(a) To bring to light
(b} Hit the nail on the head
(c) Fight tooth and nail
(d) Tolend ear to
(¢) Thorn in one’s side.

2 H 1375




10.

11.

Give synonyms for the words given below :

(a) Talent
(b) Nip.

Give antonyms for the words given below :

(a) Logical
(b) Back.

Form words using prefix or suffix :

(a) ly
(b) pre

Rewrite the sentences :

@ x ¥=1)
Zx %=1
@x 4=1)
@ p=B)

(@ “Clean your table” said father to Rohit. (into indirect sentence)

(b) The boss promised the staff to give two months bohus in J anuary.

(into direct sentence)

H 1375
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Register No.

H 1381 HVH/HA1C/CHA1C

B.A., B.L. (Hons.)/B.A., LL.B.(Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted from 2011 to 2017)
B.A., B.L. (Hons.) First Year — Second Semester (HVH)
B.A., LL.B. (Hons.) First Year — First Semester (HA1C/CHA1C)-

SOCIOLOGY —1I

Time : 21 hours Maximum : 70 marks
PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.
1. Define Culture. Explain the characteristics and functions of Culture.

9. Analyse the functions and importance of marriage and discuss the
various forms of marriage with suitable examples.
i 3 Define Sociology. Bring out the contribution of August Comte in the

development of Sociology as a social discipline.
PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words éach.
4 Discuss the various types of social mobility with suitable examples.
Explain the characteristics and importance of primary group and
secondary group. ‘

6. Bring out the difference between folkways and mores.

PART C — (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following.
(a) " Control by Coercion.
(b) Types of deviance.
[
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(c)
(d)
(e)
(0
(2)

Emile Durkheim,.
Rule of Avoidance.
Organi(; Analogy.
Modernization.

Social Anthropology.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly:

(a)
(b)
(©)
(d)
()
6y
()
(h)

Bilateral descent.
Social Static.
Negative Sanction.
Deviance,

Sororal polygyny.
Socialization.
Social Pathology.
Role Exit.




Register No.

H 1378 HBAD/HVD/HA1D/HB1D/HC1D/HD1D/
CHA1D/CHB1D/CHC1D/CHD1D

B.Com., B.L. (Hons.)/B.A., B.L. (Hons.)/B.A., LL.B. (Hons.)B.Com.,
LL.B. (Hons.)/B.C.A., LL.B. (Hons.)/B.B.A., LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted from 2011 to 2017)

First Year — First Semester
LAW OF TORTS
Time : 21 hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words ?ach.

1.  Discuss about the nature and definition of torts. Distinguish torts from
crime, breach of contract and privity of contract through relevant cases.

2.  To constitute tort of Defamation, the plaintiff has to prove the essential
elements. Analyse the elements of defamation.

3.  Failure on the part of plaintiff reduces the liability of the defendant for
tort of negligence. Examine the statement with decided cases.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
4. Explain “Damnum sine injuria” with relevant cases.
5. Analyse the limitation for “volenti non fit injuria”.
6. Examine the position laid down in Kasturilal case.
PART C — (5 x 4 = 20 marks)
7.  Write short notes on FIVE of the following :
(a) Con‘version. :

(b} Res ipsa loquitur.

(c) Vis major.




(d) Bolem case.

(e) False imprisonment.
(f) Public nuisance.

(g) Assault.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

Mr. X having knowledge about the presence of electrical fence on the
compound wall attempted to commit trespass and thereby sustained
injury. He filed a suit against the owner of the land for damage. Decide
the liability of the owner.

Mr. A, a Judicial Magistrate, negligently issued arrest warrant against
five persons, out of which two persons have been alréady released by the
Superior Court. The two persons filed a suit against the judicial
magistrate for false imprisonment and claimed compensation. Decide
the liability of the Judicial Magistrate.

During acute scarcity of Onions, there was a long queue formed outside
R’s shop, who was having licence to sell Onions. The queue extended on
the highway and caused obstruction to the neighbouring shops of
T. T brought an action against R. Advise T.

9 H 1378
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Register No.

H 1379 HVE/HA1E/CHA1E/HBAE/HB1E/
CHB1E/HC1FE/CHC1E/HD1E/CHD1E

B.A., B.L. (Hons.)/B.C.A., LL.B. (Hons.)/B.B.A., LL.B. (Hons.)/
B.A,, LL.B. (Hons.)/B.Com., B.L. (Hons.)/B.Com., LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, NOVEMBER 2017.

} (For the candidates admitted from 2011 to 2017)

First Year — First Semester

LAW OF CONTRACTS -1

i Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks) ;
Answer TWO of the following in about 500 words each.

1. Explain the significance of the rule of privity of consideration in India
with decided cases.

2. “Agreement in restraint of trade is void” — Discuss with relevant case law.

3. Discuss the concept of frustration with specific grounds of frustration.
Cite cases.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4.  Examine the concept of Remoteness of Damages. Trace out the rule in
Hadley Vs. Baxendale with illustrations.

5. Describe the circumstances under which the contracts are not
specifically enforceable.

6. Define Wagering contract. Discuss its special features with exceptions, if
any.

PART C — (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following :
{a) Time and place of performance of contracts.

(b) Novation

[P.T.O.]
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(¢) Krell Vs. Henry

Declaratory Decrees

(e) Injunctions

() Coercion
(g) General Offer.
PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law
and decided cases. Give cogent reasons. °

8. X promises Y to obtain for Y an employment in the public service for a
consideration for Rs. 1,00,000. Is the agreement legal? Decide.

9.  Areal estate agent agrees to sell a certain flat to X. But it turns out that
the house had been destroyed by fire before the time of the bargain
though neither party were aware of the fact. X insists on the possession
of the house. Will he succeed? Decide.

10. A and B are running a business of readymade garments shop in a
locality at Bangalore. A promised to stop business in that locality if B
paid him Rs. 5 lakhs. A stopped the business but B did not pay him the
promised amount. Determine the validity of the agreement. .

2 H 1379
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B.A,

Register No.

HVF/HA2A/CHAZA

B.L. (Hons.)/B.A., LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2017.-

(For the candidates admitted from 2011 to 2016)
First Year — Se'cond Semester

ENGLISH — II

Time : 24 hours | Maximum : 70 marks

PART I — (2 X 10 = 20 marks)

1.  Answer TWO of the following.

(a)
(b)
(o)

:
Explain the five functions of a Lawyer.

Discuss the incident of Welsh students invaded the court. ,
How did Mahatma Gandhi plead in response to the charges framed
against him?

PARTII — (5 x3=15 marks)

2. Annotate FIVE of the following :

(a)
(b)
(c)

(d)
(e)
i
(g)

Fine things are the objects of praise, base things of blame.
Non-violence is the first article of my faith.

Each defendant and witness are given a limited time-say
15 minutes altogether-in the box.

“Bring in the prisoner!”.

He put the briefcase on a seat at the back of the public gallery.
Law 1s the cement of the society.

The Commission “found” that it was a forgery and the “Times’
withdrew the facsimile letter. -

PART III — (2 x 5 = 10 marks)

3. Answer TWO of the following :

(a)
(b)
(©

Explain the role of mother tongue in learning a language.
Write the difference between the spoken and the written language.

Define Tautology and Euphemism with examples.

[P.7.0.]




PART IV — (3 x 5 = 15 marks)
LOGIC — (2 x 5 = 10 marks)

(a) Explain ‘Expression skills’.
Or

(b) Briefly explain the rules of syllogism.

Bring out the fallacy in ONE of the following syllogisms :
(a) All mice are animals

Some animals are not dangerous

. Some mice are dangerous.

Or

(b) Only man is born free
No women are men

.. No women are born free.
LETTER WRITING — (5 marks)

Write a letter to the editor of a Newspaper expressing your concern
about the irreparable harm we are doing to the existence of the earth
with the advancement of technologies.

PART V — (10 x 1 = 10 marks)

Use TEN legal terms in sentences :.

(a) Defamation.
(b) De jure.

(¢) Res judicata.
(d) Quid pro quo.
(e) Voidable.

() Vakalat.
(g) Insolvency.
(h) Title.

() Sine die.
) Privity.

(k) Obscene.
(1) Ewvidence.

2 H 1482




Register No.

H 1382 HVUHBAI/HA2B/CHAZB
B.A., B.L. (Hons.)/ B.A., LL.B. (Hons.)/ B.Com., B.L. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted from 2011 to 2016)-

First Year — Second Semester
POLITICAL SCIENCE — I (POLITICAL THEORY)

Time : 24 hours | Maximum : 70 marks
PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1. “Political Science begins and ends with the State” — Elucidate.

2. “State is people organised for law within definite territory” — Elucidate.

3. Explain the main principles of Marxism.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each. .

4. Examine the various rights of citizens in a modern State.
5. Explain the merits and demerits of Democracy.

6. Discuss Aristotle’s classification of Constitution or Government.

PART C — (5 x 4 = 20 marks)

7.  Write short notes on FIVE of the following :

(a) Political Science and Geography.

(b) Systems approach.

(c) State and Nation.

(d) Methods of acquiring citizenship.

(e) Marxist view on freedom.

() City-States.

(g) Laissez-faire theory.

[P.T.O.]
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Answer SIX of the following very briefly.

(a)
(b)
(c)
(d)
(e
@

(g)
(h)

PART D — (6 x 2 = 12 marks)

C.F. Strong.
Aristocracy.

Titular sovereignty.
Locke.

Human rights.
Constitutional Law.
Regionalisation.

Public Opinion.

H 1382



Register No.

H 1393 HXB/HA2D/CHA2D/HBCC/
HB3C/HC3C/HD3C/CHB3C/
CHC3C/CHD3C

B.A., B.L. (Hons.)/B.A,, LL.B. (Hons.)/B.Com., B.L. (Hons.)/
B.Com., L1L.B. (Hons.)/B.C.A., LL.B. (Hons.)/B.B.A., L1.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted from 2011 to 2016)

(B.A.. B.L., (Hons.)Y B.Com., B.L. (Hons.) Third Year — Fifth Semester;
B.A. LL.B. (Hons.) First year — Second Semester;
B.Com., LL.B (Hons.)/B.B.A,, LL.B. (Hons.)/B.C.A. LL.B (Hons.)
Second Year — Third Semester)

LAW OF CRIMES -1 (Indian Penal Code)

$
Time : 21 hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Critically analyse the capability of a person to be charged under
criminal law with the application of Mc Naughten’s Rule.

2. Define Rape. Examine the essential elements of rape with specific
reference to latest amendment in the law.

3. Enumerate the provisions of the offences relating to marriage.
PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4. Narrate the concept of the extra territorial jurisdiction under the code.

5. Distinguish between giving false evidence and fabricating false
evidence.

6. Examine the validity of protection of life with that of offence of attempt
to commit suicide.

PART C — (5 x 4 = 20 marks)
7.  Write short notes on FIVE of the following :

(a) De minimis non-curat lex

(b) Mens rea

{P.T.O.]




(c) Hurt and grievous hurt
(d) Elements of dowry death
(e) Public servant
(H Mistake of law and Mistake of fact
(g) Theftt.
PARTD - (2x6=12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

A, B and C entered into a house with deadly weapons to commit
robbery. A robbed the house, B caused injury to one of the inmates of the
house and C stood outside the house and helped them. Decide the
liability of all the accused.

Mr. S causes Mr. X to go into a room and locks fiim inside with an
intention to prevent him proceeding in any direction. Decide whether
Mr. S has committed any offence against Mr. X

Mr. X was carried off by a horse. Mr. Y fires at the horse without
knowing that the shot may kill Mr. X. Whether Mr. ¥ committed any
offence, decide. '
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H 1383 HVJ/HBAJ/HA2E/HB2E/HC2E/HD2E/

Register No.

CHA2E/CHB2E/CHC2E/CHDZE

B.A., B.L. (Hons.)/B.A., LL.B. (Hons.)/B.Com., B.L. (Hons.)/B.Com.,
LL.B. (Hons.)/B.C.A., LL.B. (Hons.)/B.B.A., LL.B (Hons.) DEGREE

(SEMESTER) EXAMINATIONS, NOVEMBER 2017.
(For the candidates admitted from 2011 to 2016)
First Year — Second Semester

LAW OF CONTRACTS - 11

Time : 24 hours Maximum : 70 marks

o

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

Discuss the concept of beneficial variance in a contract of guarantee.
Explain the rights and duties of bailor and bailee in a bailment contract.

Discuss the doctrine of undisclosed principal and state its relevance in

an agency contract.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
Explain the Doctrine of Coextensive liability in a contract of guarantee.

State the various ways in which a firm can be dissolved by referring to
Partnership Act.

 Define Agency and state its various modes of creation.

PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :
(a) Ex post facto warranty.
(b) Duties of partners.
(c) Non registration of partnership firm.

(d) Rights of pawner.

[P.T.0.]
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() Gift.

(H Conditions and warranties.

(g) Unpaid vendor.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law
and decided cases. Give cogent reasons.

8. A deposits gold in a bank locker and had control over the key. After
sometime A found certain gold missing. A sues the bank for breach of
bailment contract. Decide.

9. A agrees to indemnify B for a specific act and later B claims indemnity
before incurring loss, but on anticipation of loss. Decide.

10. A acts as an agent for X without the permission‘ from X. During the
course of agency Y is injured due to the act of A. Y sues A who reveals
that he is acting as an agent of X, so Y sues X, Decide.

2 H 1383




Register No.

H 1384 HWB/HASA/CHA3SA

B.A., B.L. (Hons.)/B.A., LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted from 2011 to 2016)

Second Year — Third Semester

SOCIOLOGY - 11

Time : 2L hours : Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each!

1. Explain the major problems faced by women in contemporary India.
Describe the various measures taken by the Government of India for
women welfare.

‘ 2. Describe the paradox of social change in the modern Indian society and
describe the factors responsible for it.

3. Give a brief historical sketch of the Indian civilization and analyse the
developments faced by Indian society in contemporary India.

PART B — (2 x 7= 14 marks)

35 Answer TWO of the following in about 300 words each.

4. Define the concept of Juvenile Delinquency. Write down a note on
Juvenile Delinquency.

5.  Explain the characteristic features of caste.

6. Describe the social role of judiciary and legal profession in Indian
society.

B PART C — (5 x 4 = 20 marks)
t 7.  Write short notes on FIVE of the following :

}

i

(a) Describe the status of women in Indian family.

L (b) Discuss the remedial measures for prostitution,




(©
(d)
©
®
(g)

Explain the causes of social change.

Write down a note on the issue of reservation in India.

How are political and administrative efforts useful to attain unity?
Write a note on racial and ethnic diversity.

Explain the demerits of joint family system.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly:

(a)
(b)
©
(d)
()
®

(2)
(b

Unity and Integrity
Four-feld Varna System
Westernization
Scheduled Castg
Sexual Harassment
Honour Killing
Dowry Death

Dispersed Villages.




Register No.

H 1484 HWA/HA3SB/CHASB

B.A., B L. (Hons )B.A., LL.B. (Hons.) DEGREE (SEMESTER)
, EXAMINATIONS NOVEMBER 2017.

(For the candidates admitted from 2011 to 20 16)

- Second Year — Third Semester :
POLITICAL SCIENCE II - STATE AND POLITICAL OBLIGATIQNS
Time : 24 hours . . Maximum : 70 marks

‘ PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

Examine the Utilitarian theory of political obligation.
Evaluate Hobbes idea of Social contract theory. .
Discuss Joseph Raz ideas on authority and obligation.
PARTB—(2x7=14 marks)
Answer TWO of the following in about 300.words each.
Examine Upendra Baxi's ideas on Pmson System.

Evaluate the role of international soc1ety in pohtwal obligation of a
State.

Discuss the right to dissent and p‘oiitical o‘bligat‘io;n.'
PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :
(a) Politicai obligation in ancient times
(b) Voluntarism .
{¢) Civil disobedience movement
(d) Locke’s governmental contract
@) Political obligation and identity
() Nature of political obligation
(g) Extent of authority in a state.



PART D — (6 x 2 =12 marks)

Answer SIX of the following very briefly :

(a)
(b)
(©
(d)
(e)
®
(g)
(h)

Crito

Sovereignty

Legal obligation
Edmund Burke

Law of nature
Absolute Government
Justice

Ancient Indian legal system.

R =
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Register No.

H 1385 HWC/HBBC/HA3C/CHA3C

B.A., B.L. (Hons.)/B.A.,LL.B. (Hons.)/B.Com., B.L., (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted from 2011 to 2016)
Second Year — Third Semester
ECON OMICS -1
(General Principles of Economics)
Time : 24 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks) o
Answer TWO of the following in about 500 words each.

1. Iseconomics a science? If so is it a positive science or normative science.
Give reasons.

2. Explain general equilibrium with the help of IS-LM functions.
3.  Critically evaluate the modern theory of international trade.
PART B — (2 x 7 = 14 marks)
AnsWer TWO of the following in about 300 words each.
4. Describe the objectives and tools of monetary policy.

State and explain how product pricing is done under monopolistic
market.

6. Evaluate the marginal productivity theory of wage.
PART C — (5 x 4 = 20 marks)
7.  Write-short notes on FIVE of the following :
(a) Difference between balance of payment and balance of trade
{b) Effects of taxation on distribution :
(© TFunctions of money
(1) Consumer surplus
(¢) Short-run production function

() Quasi-rent _
J (g) Difference between MRS and MRTS.

et P S

[P.T.0.]




PARTD —(6x2=129 marks)

Answer SIX of the following very briefly :

(a)
(b)
(©)
(d)
(e)
@

(®
(h)

Preamble of our Constitution
Effective demand

Elasticity

Trade cycle

Liquidity-trap

Non-tax revenue

Inflation

Price rigidity.
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Register No.

HWD/HASD/HB3D/
H 1386 HC3D/HD3D/HBBD/
CHA3SD/CHB3D/CHC3D/CHD3D

B.A., LL.B. (Hons.)/B.A., B.L. (Hons.)/B.Com., B.L. (Hons.)/
B.Com., LL.B. (Hons.)/B.C.A., LL.B. (Hons.)/B.B.A., LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted from 2011 to 2016)
Second Year — Third Semester

FAMILY LAW — 1

Time : 21 hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks) $
Answer TWO of the following in about 500 words each.

1. What are the essential conditions to be satisfied for a valid Hindu
Marriage? Examine the consequences of these conditions.

2.  What are the different modes of “Talaq’? When does Talag become
irrevocable?

3. Explain the grounds for dissolution of marriage among Christians under
the Divorce Act with recent amendments.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. State the consequences of marriage under the Special Marriage Act,
1954.

5. Who is the natural guardian of a minor under the Hindu Minority and
Guardianship Act, 19567 What are his powers?

6. What are the effects of adoption under the Hindu Adoption and
Maintenance Act, 19567 :




PART C — (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following:

(a) Sources of Muslim law.

(b) Ramnad case.

(¢) Maintenance pendente lite.
(d) Khyar-ul-Bullugh.

(e) Prompt Dower.

() Minister of Religion.

(g) Doctrine of Factum valet.
PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of
law and decided cases. Give cogent reasops.

8. A Hindu boy aged about 14 years married a Hindu girl aged about
12 years in the year 1960. Decide the validity of the marriage in 1960
and its present position.

9. A Shia Muslim marries his wife’s elder sister during the existence of a
valid first marriage. Decide the validity of the second marriage.

10. James, a Christian wants to marry Lakshmi, a Hindu girl. How can
they can do a valid marriage?

2 H 1386
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Register No.

H 1387 , HWE/HASE/HB3E/HC3E/HBBE/
HD3E/CHA3E/CHB3E/CHC3E/CHD3E

B.A., B.L. (Hons.)/B.C.A,, LL.B. (Hons.)/B.A., LL.B. (Hons.)/
- B.Com., B.L.. (Hons.)/B.Com. LL.B. (Hons.)/B.B.A., LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2017.

(For the candidates admitted from 2011 to 2016)
Second Year — Third Semester
CONSTITUTIONAL LAW -1
Time : 21 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks) ]
Answer TWO of the following in about 500 words each.

1. Define Constitution. Explain the salient features of the Indian
Constitution. :

2. Examine the freedom of press guaranteed under the Indian Constitution
citing relevant case laws.

3. Explain the constitutional safeguards provided to the religious and
linguistic minorities. i

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4.  Discuss the constitutional protection against illegal arrest and detention

with special reference to D.K. Basu vs. State of West Bengal.

5. What are the various modes of acquiring citizenship of India?

6. “The guarantee of equality before law is an aspect of Rule of law” —

Discuss.

PART C — (6 x 4 = 20 marks)

7. Write short notes on FIVE of the following :

(a) Co-operative federalism.

(b) Judicial review.

(¢) Protective discrimination.




e e

(d) Double jeopardy.
(¢} Habeas corpus.
(f) Uniform civil code.

(g) Polluter pays principle.
PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

A circular was issued by the Director of Public Instructions stating that
it is obligatory for the students in the school to sing National Anthem.

‘Twao children belonging to Jehovah’s witnesses did not sing National

Anthem, but they stood respectfully while National Anthem was being
sung. The school management expelled them from school for refusing to
sing National Anthem. Is such expulsion constitutionally valid?

A wife has filed a petition for decree of nullity of marriagg‘e on the ground
that the marriage has never been consummated because the husband
was impotent. The husband denied that allegation levelled against him
and filed an application for her medical examination to prove her
virginity. If marriage is not consummated she will be virgin. Whether
such virginity test is allowed under the Indian Constitution? Decide.

India is multi-religious, multicultural country. A particular religion has
an approved custom of fast unto death. Indirectly it is encouraging
suicide. Committing suicide is prohibited by Indian Penal Code as it is
an offence. This custom was challenged as it takes away one’s hife —
Decide the constitutional validity of the custom.
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H 1388 HWEF/HBBE/HA4A

B.A., B.L. (Hons.)/B.Com,, B.L. (Hons.)/B.A., LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted from 2011 to 2015)

Second Year — Fourth Semester

HWF — POLITICAL SCIENCE - III INTERNATIONAL RELATIONS)
B.A., B.L. (Hons.)

HA4A - POLITICAL SCIENCE — I1I INTERNATIONAL RELATIONS) :
B.A., LL.B (Hons.) )

HBRBF — POLITICAL SCIENCE — IT (INTERNATIONAL RELATIONS) :
B.Com., B.L. (Hons.)

Time : 24 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1.  Explain the nature and scope of International Relations.

9. Analyse the Realist theory of International Relations and examine
Morgenthau’s six principles.

3. What are the causes and effects of Il World War?
PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
A Discuss the concept of National Power, its elements and limitations.
Summarise the goals of Regional and Non-Governmental Organisations.
6. “International Terrorism is a threat to world peace”. — Elucidate.
PART C — (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following :
(a) Treaty of Westphalia.
(b) State Actors and Non-State Actors.
(¢) UNO and its functions.
(d) Bipolarization.

(P.T.0.]




(e)
®
()

International Humanitarian Law,
Balance of Power.

Neo-Realism.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(&)
(b)
()
(d)
()
)

(g)
(h)

Imperialism.
Feminism.

I world war.
International Morality.
League of Nations.
Cold war crises.

NAM.

Diplomacy.
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H 1389 HWG/HA4B

B.A., B.L. (Hons.)., B.A,, LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted from 2011 to 2015)

Second Year — Fourth Semester

ECONOMICS - 11 (Indian Economics)

Time : 2% hours Maximum : 70 marks

i

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Define National Income. Explain the methods of measuring National
Income.

9. Bring out the impact of Green Revolution on Indian Agriculture.

3 What is industrial dispute? Explain the role played by trade unions in
mitigating the dispute.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
4. Evaluate the 1991 EXIM policy.
5. Describe the problems of SSIs in India.
6. TExplain about the role of PACS in providing Rural Credit.
PART C — (5 x 4 = 20 marks)
7 Write short notes on FIVE of the following :
(a) Poverty gap
() NCDC
(¢0 PMRY
(d) ESIAct

[P.T.0.]




(e)
(H)
(g)

Offshore Banking

Deficit financing
Grant-in-Aid.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)
(b)
(©)
(d)
(e)
®
()
(h)

Poverty line.
Unemployment.

Mixed economic system.
Outside leadership

EPZ

GATT

NAFED

Demographic — Divide.
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[ HWH/HBBG/HAAC/
H 1390 HB4C/HC4C/HDAC

B.A., B.L. (Hons.)/B.Com., B.L. (Hons.)/ B.A., LL.B.
(Hons.)/B.Com.,LL.B.(Hons)/B. C.A., LL.B. (Hons)/ B.B.A.,
LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2017.

(For the candidates admitted from 2011 to 2615)
Second Year — Fourth Semester

JURISPRUDENCE
}

Time : 2Lhours : Maximum : 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

L. Jurisprudence as the “philosophy of positive law”-Elucidate.

2. “Law as the body of principles recognised and applied by the state in the
administration of Justice”-Examine.

3.. Examine the nature of possession.

L7 PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.
4.  Discuss the theories of Corporate personality.
5. Examine the elements of judicial procedure.
6. Explain the custom as a source of law.

PART C — (5 x 4 = 20 marks)
7. Write short notes on five of the following:
(a) Sociological School.
»  (b) Concept of Dharma.
(¢ Art.142 of the Indian Constitution.

[P.T.0.]




(d) Ratio-decidendi.

(e) Status of unborn child.
() Criminal liability.
(g) Obligation.
PARTD —(2x6=12 marks)

Answer TWO of the following by referring to the relevant provisions of law

8.

10.

and decided cases. Give cogent reasons.

A bureau was delivered to a carpenter for repairs. The carpenter
discovered money in the secret drawer which he appropriated to his

own use —Decide.
i

The respondent, while purchasing some goods, deposited a clock which
he owned, with the vendor, as security for the price of goods he was
purchasing. It was agreed between them that vendor would be entitled
to sell the clock if the respondent did not pay for the goods within one
month. The respondent later returned to the vendor’s shop and took the
clock without paying the price of the goods.-Decide.

The husband of the plaintiff was a caghier in the defendant firm. A part
of his duty was to carry cash once in a week to the mines to pay the
weekly wages to the mine workers. While he was so engaged, he was
waylaid, robbed and murdered. His widow, the plaintiff, filed a suit for
compensation under the Employees’ Compensation Act. Section 1 of the
Act provided compensation for injuries due to accident in the course of
employment. The defendant contended that though the death resulted
during the course of employment, it was not due to accident. Can the
plaintiff succeed in this case? What kind of interpretation has to be

adopted?
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H 1391 HWI/HBBI/HA4D/HB4D/
HC4D/HD4D)

B.A,LL.B. (Hons.)/B.A,,B.L. (Hons.)/B.Com.B.L. (Hons.)/
B.Com., LL.B. (Hons.)/B.C.A., LL.B. (Hons.)/B.B.A,, LL..B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2017.

(For the candidates admitted from 2011 to 2015)
Second Year — Fourth Semester
FAMILY LAW - I1
Time : 21 hours _ : -~ Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1.  Define a Hindu Joint Family and explain the powers of the Karta with
special reference to his power of alienation.

Explain rules of succession applicable to a Hindu male dying intestate.

3. Explain the powers of a Mutawalli over the Wakf property. How is a
Mutawalli appointed and removed?

PART B — (2 x 7= 14 marks)
- Answer TWO of the following in about 300 words each.

4.  Enumerate the changes made by the Hindu Succession (Amendment)
Act 2005.

5.  Mention the rights of sharers under the Hanafi law.

Discuss the various kinds of legacies and its abatement.
PART C — (6 x 4 = 20 marks)
7. Write short notes on FIVE of the following :

{a) Aprathibanda Daya.

(b) Unilateral declaration of intention to Partition.
(¢) Doctrine of Representation.

(d) Revocation of Hiba.

(e) Marz-ul-maut.

() Privileged will.

(20 Domucile.

[P.T.O.]



PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law
and decided cases. Give cogent reasons.

- 8. A Hindu male dies intestate leaving his mother, concubine, son and two
daughters of his predeceased daughter. Distribute his estate.

9. A Hanafi Muslim dies leaving his widow, mother, full brother and two
daughters. Divide his estate.

10. A Christian woman dies leaving her husband, son, father and mother.
Divide the estate among them. '
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Register No.

B.Com., B.L. (Hons.)/B.A., LL.B. (Hons.)/B.Com., LL.B. (Hons.)/

B.C.A., LL.B. (Hons.)fB.B.A., LL.B. (Hons.)/B.A., B.L. (Hons.) DEGREE

(SEMESTER) EXAMINATIONS, NOVEMBER 2017.
(For the candidates admitted from 2011 to 2015)
Second Year — Fourth Semester

CONSTITUTIONAL LAW - 11

)

Time : 2% hours- Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
Explain the procedure for election and impeachment of the President of
India.

Discuss the financial relations between the Union and the State.
Examine the role of Finance Commission on sharing of revenue between
Union and the State..

“The Constitution provided that the Council of Ministers both in the
centre and the state shall be collectively responsible to the respective
lower houses” — Discuss.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
“No tax shall be levied or collected save by aﬁthority of law”. — Discuss.
What are the constitutional safeguards available to a civil servant?

Discuss the writ jurisdiction of the High Courts under Article 226 of the
Indian Constitution.

PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following
(a) Administrative Tribunals.
(b) State Emergency.
(¢) Passing of Bill in the Parliament.

(d) Doctrine of Colourable legislation.
[P.T.0.}




() Tenth Schedule of the Constitution.
() Local Self Government.
(g) Consolidated Fund of India.

PART D -— (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

Mr.- Ram Prakash who was not a member of the Legislature was
appointed as a Minister for six months. He failed to get himself elected
to the legislature and resigned. In the meantime another person was
appointed as Chief Minister, Mr, Ram Prakash was again appointed as
a Minister. This was challenged before the Supreme Court. Decide the
constitutional validity. :

The Bombay Prohibition Act, which prohibited sale and possession of
liquor in the State, was challenged on the ground that it incidentally
encroached upon import and export of ligquor across custom frontier, a
central subject. It was contended that the prohibition, purchase, use,
possession and sale of liquor will effect its import. Decide.

An officiating Superintending Engineer was compulsorily retired under
Art. 265 (a) of the Civil Service Regulations. This order was challenged
on the ground that he was removed without giving him a full

opportunity to show cause against the action proposed to be taken with
regard to him. Decide.
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H 1483 ‘ e

B.A, B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2017.

. (For the candidates admitted from 2011 to 2014)
Third Year — Fifth Semester

POLITICAL SCIENCE IV - PUBLIC POLICY AND PUBLIC
: ADMINISTRATION

H

Time : 2%hours : Maximum : 70 marks

=

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

Discuss the meaning, nature and scope of Public Policy.
Explain the centralised and decentralised administration.
Examine the role of Chief Executive in Administration.

PART B— (2 x 7 = 14 marks)

> Answer TWO of the following in about 300 words éach. ;

What is departmentation? What are the methods of -departmentation?
What are the theories of motivation?
Explain the importance of organisation.

PART C —- (5 x 4 = 20 marks)
Write short notes on FIVE of the following :

(a) Public Administration and Private Administration.
(b) Hierarchy. :

(¢) 73t Constitutional Amendment.

(dy National Development Council.

(e) Growth of Regulatory Commission in India.

(), National Human Rights Commission,

(g) SEBIL ’

[P.T_.O.]




(a)
(b}
(©)
(d)
(e)
)
(g)
(h)

PART D — (6 x 2 = 12 marks)

8. ' Answer SIX of the following very briefly :

POSDCORB.

Henry Fayol.

State Public Service Commission.
74th Amendment Act.

Line and Staff Agency.
Participative Management.

Control over Public Administration.

Delegation.




H 1396 HXE/HBDC

Register No.

B.A., B.L. (Hons.)/B.Com., B.L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2017,

(For the candidates admitted from 2011 to 2014)
B.A., B.L. (Hons.) — Third Year — Fifth Semester
(For the candidates admitted during 2013 and 2014)
B.Com., B.L. (Hons.) - Fourth Year — Seventh Semester

'

INTERPRETATION OF STATUTES

Time : E%hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

‘“The parts of the statute have to be read as a whole and the whole shall
not be understood without analysing its various parts’ — Discuss.

Examine the works of the Law Commission of India on the subject of
amendments to the General Clauses Act.

“The Constitution is perceived as living law, therefore it requires a
liberal interpretation’ — Examine with the help of decided case laws.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
Explain the role of the Department of Legislative Drafting in India.

Discuss the relevance of ‘Provisos’ , ‘Explanations’ and ‘Long title’ as
intrinsic aids of interpretation.

Define act or omission. Explain the relevance of Doctrine of Deeming
Fiction in law in the Penal Statutes.

PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :
(a) Principle of Good faith in Interpretation.
(b) Reddendo Singula Singulis.

(¢) Non liquet and causus omissus.

[k

—-




(d) Exemption in Taxing Statutes.
(e) Article 372 of the Constitution of India.

(f) Noscitur a sociis.

(g) Dictionaries as extrinsic aids.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

X’, a differently abled person, while claiming benefit under the Persons
with Disabilities Act in India, asks the courts to adopt Social Rights
based approach and not that of medical oriented views. Discuss.

In a case before the Supreme Court, a question is asked, whether the
‘Judiciary’ falls under the category of ‘state’, under Article 12 of the
Constitution of India. Discuss.

V', a Snake Park, in its recruitment advertisement stated
Professionals handling other snakes and King Cobra, Viper, ratile and
similar snakes are required for full-time post. In terms of
interpretation, whether professionals handling python can apply.
Decide.
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H 1412 HZG/HAA

B.A,, B.L.. (Hons.)/B.A., LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted from 2011 to 2015)
Fifth Year — Tenth Semester/Third Year — Fifth Semester
MARITIME 1.LAWS

Time : 2 { hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks) "
Answer TWO of the following in about 500 words each.

1. “Court’s admiralty jurisdiction is not limited to what was permitted by the
Admiralty Court Act, 1961 and the Colonial Couris of Admiralty Act, 1890"-

Discuss.

2.  Explain the application of the Principle of Territorial Sovereignty in the
Maritime belt of the Coastal State.

3. “Limitation of Liability of the owners of a ship entitled to the benefit from
incurred liability in respect of loss of life or personal injury or Ioss of or damage
to vessels, goods, merchandise, or property” — Examine.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
4. Explain the significance of the Maritime Zones Act of 1976.

5. Discuss the composition and functions of the International Maritime
Organisation.

6. Critically analyse the safety and security regulations at Sea and in Port.

PART C — (5 x 4 = 20 marks)

7.  Write short notes on FIVE of the following :
(a) Admiralty Law as a part of Law Merchant
(b) Arrest of the vessels

(¢) Mareva Compania Naviera vs International Bulk Carriers SA
(1975) 2 Lloyd’s Rep. 509}

[P.T.0.]




(d) Fisheries Right

(e) Sale and purchase of the ship
(f)  Collision at Sea

(2) Pilotage

PARTD —(2x6=12 marks})

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

Fishing  Company Association  vessel  collided with Ship X
The deck officer Y was killed in this incident. The widow of Y claims
compensation against the Association. Decide the liability.

Monica, a Liquid Cargo Vessel was registered with State X. But X was not a
Member State to the IMO and its internal laws were hot in consonance with
that of the IMO standards. Monica was involved with an act of leaking several
tons of oil. In consequence, the adjacent marine living resources were affected.
The victim State claims compensation against the owner of the vessel Monica
and State X - Decide.

Manutea vessel was successfully salvaged by X. During the extensive
tow, the two captains including that of X entered into an oral salvage
agreement for future course of events which has no consent of the
salvor. Whether such salvage agreement is valid?
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H 1395 _ HXD/HASB

B A.,LLB. (Hons.)/B.A,, B.L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS NOVEMBER 2017.

(For the candidates admitted from 2011 to 2015)
Third Year — Fifth Semester :
HUMAN RIGHTS LAW

Time : 24 hours ; Maximum : 70 marks
; $
PART A — (2 x 12 = 24 marks)

Answer TWO of the foﬂowing in about 500 words each.

1. Define ‘Economic Rights’. What is the importance of ‘Socio-Economic’
rights to realise first and second generations of human rights?

9.  Critically examine the validity of international human rights law before
the national courts.

3. What is International Bill of Rights? Discuss the making, significance
and influence of International Bill of Rights.

_ PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
4. Write a short essay on Child Rights.
Evaluate the recent developments relating to the rights of Women.
6. Briefly state the theories relating to human rights.
PART C — (b x 4 = 20 marks)
7.  Write short notes on FIVE of the following :
(a) Refugee rights.
(b) : Genocide in Srilanka.
(¢). Cyruscylinder. - :
(d) Human Rights in Europe.
() Amnesty International.
(f - Duties related to Human Rights.
(g) Constitutional protection for Scheduled Caste.

[P.T.O.]




PART D~ (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

Mr. N has lost his house due to land acquisition by the state for an
important project. The compensation provided to him was very less to
make a decent housing. He advances arguments from human rights law
to get compensation. Decide.

Mr. Varathan is a national of a neighbouring country. He overstayed in
India to make refugee claims. His claim for the status of refugee was

rejected. He was prosecuted for unauthorised stay in India. He

approaches the Supreme Court. Decide.

Ms. Kamboo is a famous actress. She made sdme controversial
statements aboutf native culture, Multiple prosecutions were initiated by

. various persons in many courts of Tamil Nadu. She approaches

the High Court against multiple prosecutions. Decide.
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H 1402 HYA/HA5D/HB5D/HC5D/HD5D

B.A., B.L. (Hons.)/ B.A., LL.B. (Hons.)/B.Com., LL.B. (Hons.)/
B.B.A., LL.B. (Hons.)/B.C.A., LL.B (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted from 2011 to 2015)
Fourth Year — Seventh Semester/Third Year — Fifth Semester
COMPANY LAW

Time : 2% hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. “The doctrine of constructive notice seeks to protect the company
against the outsider and the doctrine of indoor management operates
the outsiders against the company” - Discuss.

2. Describe the provisions of voluntary winding up under the Companies
Act 2013.

3. In the case of a company, whatever is not stated in the memorandum of
»  association as objects of the company is prohibited by the doctrine of
ultra vires. Discuss with decided cases.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4. What is a floating charge? How does it differ from a fixed charge? Can a
floating charge become a fixed charge?

5. What are the legal constraints on payment of dividend? Discuss in the
light of statutory framework prevailing in India.

6. Discuss briefly the rights, duties and liabilities of an auditor.
PART C — (b x 4 = 20 marks)
7.  Write short notes on FIVE of the following :
(a) Investor Education and Protection Fund.

(b) Interim dividend and final dividend.

[P.T.O.]
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(c)
(d) Sweat Equity Shares.

Transfer of shares and transmission of shares.

(e} Prospectus.
(f) Forfeiture of shares.

(g) Pre-incorporation contract.
PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law
and decided cases. Give cogent reasons.

8. A, B, C and D developed a business plan. To implement the plan, it was
decided that A and B will incorporate a company and C, a Chartered
Aceountant, will provide them his professional seryices for the same. It
was also decided that D will provide loan to the company. The loan to be
provided by D was essential to start the business. Advise, out of C and
D, who shall be regarded as a promoter of the company.

9. Agile Ltd. called its annual general meeting on 28th September, 2016.
The notice of the meeting was posted on Gt September 2016. With
reference to the provisions of the Companies Act 2013, examine whether
the notice given by the company was valid.

10. Shortcut Ltd. has allotted shares to investors of the company without
filing prospectus with the Registrar of companies. Explain the remedies
available to the investors in this regard.
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Register No.

HD5E/HBAC

B.A., LL.B. (Hons.)/B.A.,B.L. (Hons.)/B.Com., LL.B. (Hons.)/
B.Com., B.L.. (Hons.)/B.B.A., LL.B. (Hons.)/B.C.A., LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted from 2011 to 2015)
First Year — First Semester / Third Year — Fifth Semester
LEGAL METHODS

Time: 24 hours Maximum : 70 marks

¢

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
Define legislation. Explain the values of learning legal methods in the
context of epistemological views.

“Qenecral Clauses Act is popularly referred as ‘legislative dictionary’
majorly due to its definitional understanding” — Discuss. ‘

Examine the maxim “Expositio visceribus actus”. Illustrate with the
help of decided cases. ‘

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
Trace the merits and demerits of Empirical research in law.

Explain the components of synopsis at the doctrinal mode of legal
research.

Examine the role of Law Commission of India in the context of law
reforms. Illustrate with select reports.

PART C — (6 x 4 = 20 marks)
Write short notes on FIVE of the following :
(&) Object of comparative jurisprudence.

(b) Elements of Rule of law.

(¢) Doctrine of deeming fiction in law.




(d)
(e)
@
(®

Distinguish civil and criminal negligence.

Right to Speaking Order.
Law of Treaties.

Interview method.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)
(b)
©
(d)
©)
®
8
(h)

Law library.
Questionnaire.

Logical reasoning.
Constitutionalism.

Foot notes.

Research manual.
Definition of Human rights.

Freedom Movement and Law.
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H 1397 HXF/HBCH

B.A., B.L. (Hons.)/B.Com., B.L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted from 2011 to 2014)
_ Third Year — Sixth Semester

ADMINISTRATIVE LAW

Time : 24 hours Maximum : 70 marks

}

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1.  “It may not be possible to frame an exhaustive definition of what

executive function means and implies” — Comment.

9 Discuss in detail with case laws, judicial control of delegated legislation

and to what extent this power can be exercised by the judiciary?

5. Explain the meaning of administrative discretion and discuss how far
judicial control 18 effective in preventing abuse of discretion? Refer to

decided case laws.

PART B — (2 x 7 =14 marks)

Anawer TWO of the following in about 300 words each.

4. Explain with decided cases the kinds of official bias in administrative

functions.

5 “The executive power of the state includes the power to carry on any
trade or business and to the acquisition, holding and disposing of any
property and the making of contracts for various purposes’ — Explain
with decided case laws how a contract could be entered into and the

judicial review of contractual liability of state.

6. Discuss the liability of state for the torts committed by its gervants 1n

India.

[P.T.0.]




PART C — (56 x 4 = 20 marks)
Write short notes on FIVE of the following :

(a) Rule of Law

(b) Donoughmore Committee
{¢) Doctrine of Necessity

(d) Reasoned decisions

(e) Writ of Mandamus

@ Estoppel

(g9 Ombudsman.
PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

Alrport authority has invited tenders for running restaurant inside the
airport. The tender reserved the powers for the airport director to reject
the tenders without assigning any reason. The tender was given to a
person who was not a hotelier, which was one of the essential
conditions. Decide about the validity.

FIR was filed against two government doctors for doing private practice
based on a2 Government notification. The notification provided that the
private practice would be considered as corruption. The petitioner
challenges the validity of the notification as it is vielative of their right
and unreasonable. Decide.

‘A" who was put in wrongful and illegal detention even after he was
acquitted by the sessions court, files a petition for damages. The
government refuses to pay damages. Advise.
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B.A., B.L. (Hons.)/ B.Com., B.L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted from 2011 to 2014)
- Third Year — Sixth Semester/Fourth Year — Eighth Semester
LAW OF EVIDENCE

Time : 24 hours Maximum : 70 marks
}

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Explain the doctrine of Res-gestae with reference to the Indian Evidence
Act.

2.  Define Confession and discuss the kinds and admissibility of confession
with the help of decided cases.

3. Explain the law in India relating to the admissibility of a dying
declaration as evidence.

e PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each
4. Explain the law relating to competency of witnesses.

5. Define Secondary Evidence. Explain the circumstances in which
secondary evidence is permissible.

6. Define and discuss the conditions and presumptions as to ancient
documents.

PART C — (5 x 4 = 20 marks)
7.  Write short notes on FIVE of the following : |
(a) Child Witness
(b) Hostile Witness

(c) Privileged Communication

[P.T.0]




10.

(@ Latent Ambiguities

(e) Identification Parade
(f» Leading Questions
(g) Judgments in Rem
PARTD —(2x6=12 marks)

Answer TWO of the following by referring to the relevant provisions of law and
decided cases. Give cogent reasons:

Anil married Anu on 12.01.05. After about 5 months of their marriage
on 25.06.05, Anu gave birth to a child. Discuss thelegitimacy of the
child,

Anant, a client says to Pushpita, an Advocate, that he has committed
rape on a girl named Rakhi and wishes to be defended by her. Pushpita
says to-Anant that he has committed the most-serious crime under IPC
and in her view Capital Punishment should be awarded to a rapist and
that she will give evidence against him. During trial Pushpita appears
as witness to give evidence against Anant regarding commission of rape.

Should the court record Pushpita’s evidence? Give reasons and also refer

to relevant provisions, if any, under the Evidence Act.

Raghubir Prasad died leaving behind his widow Narayani. They had no

children. Few months after the death of Raghubir Prasad, one Vineet
files a suit against Narayani for declaration that he is the owner of half

the property left by Raghubir Prasad, being his adopted son. Narayani

denies the factum of adoption. State on whom the onus of proof lieg?

Support your answer with appropriate provisions of law.
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Register No.

B.A., B.L. (Hons.)/B.Com., B.L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted from 2011 to 2014)
Third Year — Sixth Semester
PROPERTY LAW

Time : 24 hours Maximum : 70 marks

“»

PART A — (2 x 12 = 24 marks) *'
Answer TWO of the following in about 500 words each.

Under what circumstances the Doctrine of Election is applied to a
transfer of property? What are the consequences of electing against the
transfer?

Define Mortgage and explain the rights of the mortgagor and mortgagee
under the various mortgages.

What are the requirements of a Prescriptive Easement? Compare it with
Customary Kasement.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

Explain the Doctrine of Part performance.

Define lease and explain the conditions under which a lease is
terminated.

“All resumable gifts are void but conditional gifts are valid” — Explain.

PART C — (b x 4 = 20 marks)

Write short notes on FIVE of the following :
(a) Condition restraining alienation.

(b) Conditional transfer.

(¢) Feeding the grant by Estoppel.




Answer TWO of the following by referring to the relevant provisions of law

10.

() Ramcoomar vs Mc Queen.
() Vendor’s rights and duties.
() Kinds of tenancy.

(g) Actionable claims.

PART D — (2 x 6 = 12 marks)

and decided cases. Give cogent reasons.

‘A’ wishes to give a life estate of a house to his unborn grandchild on the
child attaining twenty five years of age. Advise him.

A house was given to X until his marriage and on his marriage to Y.
X marries after Y's death. Can Y's legal heirs claim the house?

X gave a gift of Rupees 50,000 to B and C to be taken equally between
them. B accepts the gift while C does not give his acceptance. Decide the
legal consequences of this gift.
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B.A., B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
: NOVEMBER 2017, :

(For the candidates admitted from 2011 to'2014)
Third Year — Sixth Semester
INTELLECTUAL PROPERTY LAW
Time : 21 hours . ) Maximum : 70 marks

}

- PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1 Explaih the significance of “non-disclosure agreement” in relation to .
trade secret protection.

2. Discuss the constitution and the functions of Intellectual Property
Appellate Board. :

3. Enumerate the salient features of the Trade Mark Act, 1999.

% ' PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Explain the rights conferred on the farmer under the Protection of plant
varieties and Farmers’ Rights Act.

5. -Explain the scope of copyright on computer programme.
6. Discuss the concept of compulsory licence in the context of
pharmaceutical inventions. e
PART C — (b x 4 = 20 marks)

7. Write short notes on FIVE of the following :
(a) Copyright Board.
(b) National Treatment.

(c) Amnton Pillar Order.




(d) Idea Vs Expression

(e) Layman Test

® Collective Marks

(g) Diamond Vs Chakrabarty.

PART D — (2 x 6 = 12.marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

- DRR Industry required its employees to sign confidentiality agreement,

wherein it was stated that the employees should not disclose some kinds
of ‘Special training” provided by the industry and issued some manuals
dealing with the special training. But one of the employees sold the
manuals dealing with the special training to one rival industry. So, DRR
Industry filed a case agalnst the said employee for breach of confidence -
Decide.

Mr. Aaron published a corporate law book in English and owned
copyright over the work. Some time later one Mr. Balan converted the
book into electronic form and started selling the book through online
process. After noticing this fact Mr. Aaron wants to take action against
Mpr. Balan for copyright infringement. Advise him.

Maltex Industry produced a new baby soap and named it as ‘KIDBA’
and registered it as trademark. Few years later one Radan Industry
manufactured a baby face-wash cream under the name ‘HIDBA’ and
brought it into market, So Maltex Industry sued against Radan
Industry for trademark infringement. Decide this case by applying
Layman test.
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Register No.

B.Com., B.L. (Hons.)/B.A,, B.L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted from 2011 to 2014)

Fourth Year — Seventh Semester
LABOUR LAW —1

Time : 21 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about, 500 words each.

Define Trade Union and discuss the powers and duties of Registrar
under the Trade Unions Act, 1926.

Examine the concept of industrial dispute under the Industrial Disputes
Act 1947 with the help of decided case laws. Explain when an individual
dispute is deemed to be an Industrial Dispute under the Act.

Discuss the obligations of an emaployer under the Payment of Wages Act,
1936.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

Examine the scope and extent of the power of making a reference of the
dispute by the government under the Industrial Disputes Act, 1947.

Explain the role of collective bargaining in establishing smooth
industrial relations.

Define lay-off and discuss the right of workmen laid off, for
compensation under the Industrial Disputes Act, 1947.

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :
(a) -Settlement
(b) Statutory minimum wage

(c) Wages under the Payment of Wages Act

[P.T.0.]




(d) Marginal productivity theory of wages

(e) Dissolution of Trade Unions
() Doctrine of Laissez-faire

(g) Appropriate Government.
PART D — (2 x 6 = 12 marks)

Answer TWO of the following By referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

10 employees with 20 years of service were terminated first, whereas 12
employees of the same cadre having special qualification 1n computer
operating with 4 years of service were retained in service. The aggrieved
workmen challenged this on the ground that procedure adopted by the.
management m the process of retrenchment violated the principle of
“First Come Last Go” — Decide.

Tick-tock tea company was running into losses and was unable to pay
the minimum rate of wages to its workers. The workers demanded that
the management must pay them the minimum rate of wages. The

management challenges the constitutional validity of the Minimum

Wages Act — Decide.

Reva, an industrial concern submitted its draft standing orders for
certification to the certifying officer. The standing orders relating to the

retirement provided that the workmen shall retire from service on

attaining the age of 55 years. After hearing, the certifying officer has
certified the standing orders. Pursuant to this, the industrial concern
gave notice to 50 of its workmen over the age of 55 years. The aggrieved
workmen raised the industrial dispute and the matter was referred to
the tribunal — Decide. :
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Register No.

HYC

B.A., B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,

Time : 24

NOVEMBER 2017.
(For the candidates admitted from 2011 to 2014)
Fourth Year — Seventh Semester
REGULATORY LAWS
hours Maximum j 70 marks

PART A —— (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Explicate the institutionalised theories as to regulation.

9. Expound the statutory provisions found in the SEBI Act, pertaining to

regis

tration of stockbroker and other intermediaries.

3. Explain the manner in which the finances are managed, accounts are
maintained and audit conducted of TRAL

PARTB —(2x7=14 marks)
Answer TWO of the following in about 300 words cach.

4. Discuss the salieni features of the Tamil Nadu Electricity
(Reorganisation and Reforms) Transfer Scheme, 2010.

5. Explain the functions of PFDRA.

6 State about the constitution, credits and debits that can be made to and

from

the Securities and Exchange Board of India General Fund.

PART C — (5 x 4 = 20 marks) )

7 Write short notes on FIVE of the following :

(a)
(b)
(c)
@

Appeal under the TRAT Act.
Licensing under the Electricity Act.
Collective Investment Scheme.

Income tax concession to employees under NPS.
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(e) Central Electricity Authority.

() Officers and employees of the SEBI Board.

(g) Telecommunication Services.

PARTD —(2x6= 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

A person ‘C makes arrangements to start a retail outlet for gadgets
business. He enters into an agreement with XY Telecom Service
provider whereby any customer purchasing a mobile handset will be
provided with a SIM card of the operater with free unkmited calls for a
period of three months. ‘C’ sells many handsets and SIM in this basis
but they complain after a month that they have been sent consumption
bill for payment in respect of calls made. Advise G-

‘B’ applies to the Electricity Board for a new electricity connection for
his shop which he has expanded, explaining his necessity. Procedure 1s
followed. But the electricity supply is not provided within the time
stated in the agreement form. ‘B’ because of this is unable to inaugurate
the shop business as advertised and suffers consequential loss. Advise
‘B’ as to action to be taken.

‘7 has invested one crore rupees in purchasing securities for OB
company. Due to insider information about business going to meet
severe monetary losses being set out by 2 Directors of the company,
share value descends overnight in the stock market and Z suffers
monetary Joss. Advice on to action to be taken as per provisions of the

SEBI Act.
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Register No.

HYD/HBDD

B.A.,B.L. (Hons.)/B.Com,, B.L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted from 2011 to 2014)
Fourth Year — Seventh Semester '

BANKING LAW INCLUDIN G NEGOTIABLE INSTRUMENTS ACT

Time : 24 hours _ Maximum,: 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

Explain the various legal challenges involved in the nationalisation of
Banks in India.

Discuss the various rights and duties of a banker over the customers
during the processing of banking instruments.

What are the power, fu'nctions and duties of Debt Recovery Tribunal in
India? : ‘
PART B — (2 x 7 = 14 marks) ‘
Answer TWO of the following in about 300 words each.
Discuss the various lending principles followed by a bank.

What are the various liabilities of a banker in case of fraud committed
by bank employees? - :

e

_Diséuss the concepts of paying banker and collecting banker.
PART C — (5 x 4 = 20 marks)

" Write short notes on FIVE of the following :
(a) Special crossing

(b) Holder and Holder in due course

(©) Subsidiary banks




(d) Types of accounts

(e') Safety Deposit Locker
() Bank robberies

(g) Phising policy of RBI.

" PARTD — (2 x 6 = 12 marks)

Answer TWO of the followmg by referring to the relevant provisions of law
- and decided cases. Give cogent reasons.

8. A 1s a mobile phone service providing company and has all services
approved with TRAI. A offers attractive E-Wallet services for their
customers. RBI sends notice to A as their approval was not sought for E-
Wallet services. Decide. .

9. An employee of a bank forges one customer's cheque and transfers huge
amount. The customer sues the bank. Decide the liability of the bank.

10. X issues a post-dated cheque to Y. Later X dies before the cheque date
and the legal heirs of X close all the bank accounts belonging to X.
Decide the remedies available to Y.
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B.A., B.L. (Hons.)/B.Com., B.L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted from 2011 to 2013)
Fourth Year — Eighth Semester
ENVIRONMENTAL LAW INCLUDING ANIMAL WELFARE LAWS

Time : 21 hours Maximum : 70 marks

¥

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1. “Right to sweet water and the right to free air are attributes of the right
to life for those are the basic elements that sustain life itself” — Discuss. l

9. Explain the sources and effects of Water and Air Poliution. Discuss the
powers and functions of pollution control boards under the Water and
the Air Act.

3. '» Discuss the different methods for the disposal of biomedical wastes and
explain the provisions relating to the procedure for management and
handling of biomedical waste under the Bio—medical Waste
(Management and Handling) Rules, 1998.

PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

4. “Modern Environmental Law has its roots in the Common Law
principles of Nuisance.” — Discuss. '

5. Examine various acts affecting the environmént as offences under the
law of crimes.

6. Explain the constitution and duties of State board for wild life under the
Wild life (Protection) Act 1972.

[P.T.0.]
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10.

PART C — (5 x 4 = 20 marks)

Write short.notes on FIVE of the following :
(a) State bio—diversity fund

(b) Inter — generational equity

(¢) Acts prohibited in protected forests

(d) Bio— diversity Heritage sites

() Environmental Impact Assessment

(®) Ground water conservation

(g) Experimentation on animals

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of
law and decided cases. Give cogent reasons.

The owners of a tea factory were discharging the effluents into the river
which was used as drinking water by the people. The Sub—divisional
magistrate passed an order under Section 133 of the Cr. P.C. directing
the owners to make suitable arrangement within 7 days from the date of
order for the passage of effluents from the factory in such a manner to
prevent the same from passing into the river. The owners of the factory
challenged the order on the ground that the magistrate had no power
under Section 133 of Cr. P.C. as they had obtained sanction under the
Water (Prevention and control of pollution) Act, 1974 for the discharge
of effluents — Decide.

Kumar came into contact with a high tension electric wire hanging at a
low height of 10 feet and died. His widow claimed relief from the State
electricity board under the Public Liability Insurance Act. But the board
refused on the ground that electricity is not a hazardous substance. —
Decide.

The pollution control board took a sample of trade effluents from Marula
Dyeing and Printing Company’s discharge stream. The board got the
trade effluent analysed in its Laboratory and found that it did not
confirm to the requirements of the consent order granted to the
company. The board filed a suit under Section 33 of the Water
(Prevention and control of pollution) Act, 1974 and accordingly the court
issued an injunction requiring the company to establish a treatment
plant. But the orders of the court was challenged on the ground that the
representative of the company present at the time of taking sample by
the board had requested to analyse the sample from a laboratory
established by the State Government. — Decide. '
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B.A., B.L. (Hons.) B.Com., B.L. (Hons) DEGREE (SEMESTER)
-~ EXAMINATIONS,
NOVEMBER 2017.

(For the candidates admitted from 2011 to 2013)
Fourth Year — Eighth Semester/Fifth Year — Ninth Semester
CYBER LAW AND FORENSICS

Time : 21 hours : Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Explain the significance of electronic signature in the context of present
day E-commerce.

2.  Discuss the role of ICANN in protecting the domain name.

3. Describe various kinds of cyber crime in accordance with the
Information Technology Act.

> PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. “Patent on software is still a controversial issue” — Explain.

5. Explain the concept of Cyber defamation with the help of relevant legal
provisions. :

6. “Privacy in Cyberspace is a serious legal issue” — Discuss.

PART C — (5 x 4 = 20 marks)

7.  Write short notes on FIVE of the following :
(a) Beneficial hacker
(b) Online piracy

(¢) Tagging




(d) Online dispute resolution

(e) Hash function
) Unauthorised access

(g Disrupting computer network,

PART D — (2 x 6 = 12 marks)

Angwer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

Tanya is planning to gain unauthorised access into the computer

systems of MTC Banks Litd. Taran, the Manager of MTC Banks Ltd.,
hands over a list of passwords to Tanya. Using these passwords Tanya
gains the unlawful access. Decide, whether Tdran committed any’
offence.

Rahul created some obscene pictures in his computer and stored them in
a memory drive. One day, his friend Saran without getting permission
from Rahul copied all these obscene pictures and transmitted the same
to his friends. Decide whether Rahul committed an offence of Cyber
Pornography.

Sameer accidentally sends a computer virus to Pooja by email. Pooja
unwillingly downloads the virus. The virus spreads on her computer and
overwrites a lot of data. Decide the liability of Sameer.
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B.A., B.L. (Hons.)/B.Com., B.L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted from 2011 to 2013)
Fourth Year — Eighth Semester
COMPETITION LAW

Time : 2 &+ hours Maximum : 70 marks
i
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. “An agreement between the manufacturer and its distributors to set the
price the distributors must charge for the manufacturer's goods are
invalid” — Describe.

2. The Competition Act is not prohibiting an enterprise to be in dominant
position but it is concerned against the abuse of its dominant position —
Explain.

3.- Define consumer. What is the role of competition regulator to protect the
»  consumer’s interest? '

PART B —-‘(2 x 7= 14 marks)
Answer TWO of the following in abouf 300 words each.
4. Discuss the evolution of Competition Act in India.
5. ‘Cartels are prohibited per se in India’. Discuss:
6. Expiain the concept of Relevant market in India with decided cases.
PART C — (6 x 4 = 20 marks)

7.  Write short notes 6n FIVE of the following :
(a) Competition Advocacy.
(b) Effects doctrine.

(¢) Tie-in arrangement.

(d) Fair competition for greater good.




(e) Price below the cost.

() Horizontal restraint.

(g) Corporate leniency in India.

PART D -— (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

K is a cricket player and member of Cricket association, K apart from
representing for State in cricket matches, each year he used to play in
‘Mayo Premier League’. The association by its circular directed all its,
members as “members are prohibited to play in Mayo Premier League
and other leagues except Juno Premier League‘é. K challenged the

direction before the CCI. Decide.

Magesh, a business traveller, opted for telecom service in STEL.

‘Whenever he is on roaming he is burdened with exorbitant prices of

telecom services. He enquired with STEL customer care for charging
exorbitant price. The customer care executive replied him that the
particular roaming service was provided by the other telecom service
provider 1.e. TTEL. Magesh knowing the agreement between STEL and
TTEL alleged that the understanding is against the competition law.
He filed a complaint before the CCI. Decide.

HLF, a newly incorporated realtor company, on 15t October 2015
started people to book flats in the company. The existing realtors alleged
that the activities of inviting the people to book a flat in HLF is abuse of
its dominant position by pre-launching the housing project without
seeking the approval neither from the Government nor from the
authority and hence acted fraudulently, Whether the act of HLF
amounts to fraudulent and abuse of dominant position. Decide. '
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B.A.,B.L., (Hons.) B.Com,, B.L. (Hons.) DE.GREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2017.

(For. the candidates admitted from 2011 to 2013 onwards)
Tourth Year — Eighth Semester
LABOUR LAW-11

Time : 2% hours : ~ Maximum : 70 marks

i

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

© «Qaeial security has introduced an element of stability and protection in

the midst of the stresses and strains in modern life” — Discuss.

EXpla‘in the conditions under which a woman employee is entitled to
maternity benefit and discuss the obligations of an employer under the -
Maternity Benefit Act, 1961.

Discuss the provisions relating to safety and welfare of the workers

. under the Factories Act, 1948.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

Expiain the prbcedure for the payment of gratuity under the Payment of
Gratuity Act, 1972, : :

Examine the schemes provided under the Employees’ Provident Funds
and Miscellaneous Provisions Act, 1952.

. Analyse the purpose for which Employees’ State Insurance Fund may be

expended under the Employees’ State Insurance Act, 1948.
PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :

(a) FEstablishment under.the Tamilnadu Shops and Establishments
Act, 1947. '

() Social security officers

(¢) Manufacturing process




(d) Productivity linked bonus in lieu of profit based bonus

(e) Powers and duties of Medical Benefit Council
(f)  Occupational diseases
(g Certifying surgeons.

PART D — (2 x 6 = 12 marks)

« Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

A jeep driver of a bank took the officers of the bank to a village in
connection with the recovery proceedings conducted by the bank. He
rested the jeep in the rest house and went to the market where he was
assaulted by some unknown persons in the crowd gnd was found dead.
Decide the liability of the bank,

A transport business was owned by Rahu. Tn a partition between Rahu
an-d his two sons, two buses with route permits were allotted to him and
3 buses with route permits were allotted to two sons.

In spite of the partition buses were operated with the same employees.
Sons claimed infancy protection under Section 16 of the Employees’
Provident Funds and Miscellaneous Provisions Act - Decide.

Deepak worked in a textile company for 15 years and was retrenched.
His employer refused to pay him on the ground that a retrenched
employee is not entitled to gratuity. Deepak approaches the controlling
authority — Decide.
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B.A., B.L. (HONS.)/B.Com.,B.L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted from 2011 to 2014)
Fifth Year - Ninth Semester

LAW OF TAXATION

Time: 2% hours Maximum: 70 marks

- PART A - (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.

. Examine in detail the taxation of Income from House Property under the
Income Tax Act, 1961.

. “Goods and Services Tax is defined as a tax on the supply of goods or
services or both”- Explain ‘Scope of supply’ and ‘Time of supply’ under the
Central Goods and Services Tax Act, 2017.

. Narrate the various situations under the Income Tax Act, 1961 regarding
Setg(gff and Carry forward.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

. Elucidate the key provisions of the 1015t amendment to the Constitution of
India regarding Goods and Services Tax Council.

. Critically examine the reliefs provided for Double Taxation under the Income
Tax Act, 1961.

. Discuss the tax treatment of Agricultural Income under the.Income Tax Act,
1961 .
PART C - (5 x 4 = 20 marks)
. Write short notes on FIVE of the following:
(a) Canon of Economy and Elasticity.

(b} Import of Services.

(c) Section 80C deductions under the Income Tax Act, 1961.
(d) Direct and Indirect taxes. (P.T.-O.)




(e) Anti-Profiteering measures.

(fy Advance Ruling.
(g} Indexation of Cost of Acquisition of a Capital Assct.

PART D - (2 X 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law.
Give cogent reasons.

8. Sushma furnishes the following information about her period of stay in
India during the previous years 2006-07 to 2016-17:

PY | Days

Days PY Days

365 2010-11 73 2014-15 62

365 2011-12 67 2015-16 70

365 2012-13 178 160
2009-10 110 2013-14 65 B

Calculate her residential status for the assessment year 2017-18.
0. Mr.K is entitled to a salary of Rs.25,000 per month. Calculate tax payable if:

(a) He receives house rent allowance of Rs.5,000 per month.

>
(b} He receives a rent free accommodation which is owned by the company
at New Delhi.

10. Advise your client in the following circumstances:

(a) XYZ Ltd. has an annual turnover of Rs.80 lakhs and they wish to apply
for composition levy under the Central Goods and Services Tax Act,
2017 and the Tamilnadu Goods and Services Tax Act, 20 17.

(b) AMZ Ltd. an €-COmMmMErce operator has an annual turnover of Rs.10
lakhs. Is it compulsory for them 1o be registered under the Central
Goods and Services Tax Act, 2017.
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H 1408 HZB/HBEB

" B.A.B.L. (Hons.)/B.Com.,B.L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted from 20 1.1 to 2014)
Fifth Year — Ninth Semester

LAW OF CRIMES — 11
(Code of Criminal Procedure; Including Juvenile Justice Care and
Protection Act and Probation of Offenders Act)!

Time : 2% hours Maximum : 70 marks
' PART A — (2 x 12-= 24 marks)

Answer TWO of the following in about 500 words each.

1. Explain the concept of fair trial principles in the criminal justice system
. of India.

9 What is Bail? State the bail procedure on Non-bailable cases.

3 State the contents of judgement and discuss the Supreme court
e guidelines on the judgement of death sentence.

PART B — (2 x 7= 14 marks)

Answer TWO of the following in about- 300 words each.
4. Examine handcuffing of undertrial prisoners with decided cases.

5. “Every person is bound to assist a magistrate or a police officer
reasonably demanding his aid” — Examine.

6. State the procedure for the trial of juvenile in conflict with law.
PART C — (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following :
'(a) Victim compensation scheme

(b) Court of sessions

(¢) Suspension of sentence and bail

p.T.O] -




Bk

(d) Transfer of criminal cases
(e) Disposal of property pending trial
(H Execution of death sentence .

(g) Probation. -
PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions
of law and decided cases. Give cogent reasons.

If any private person instructs a pleader to prosecute any person in any
¢ourt, can they conduct the prosecution under the law — Decide.

In case a person has reason to believe that he ﬁay be arrested on
accusation of having committed a non-bailable offence, decide about the
legal remedy available to the accused. :

Where the offence is punishable with fine only, after eight months the
court has taken cognizance of that offence. Decide the legality of the
cognizance.

2 ; H 1408
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Register No.

HZC

B.A., B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,

NOVEMBER 2017.

(For the Candidates admitted during 2011, 2012 and 2013)

il 2L

i 4 iepdin

Fifth Year — Ninth Semester
CIVIL PROCEDURE CODE

hours Maximum : 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

executing court cannot go behind the decree” — Discuss the

provision with exceptions if any.

9. Discuss the powers of appellate court and describe the circumstances
under which the appellate court can receive additional evidence.

3. Describe the provisions of the Limitation Act for the computation of
period of limitation in the case of persons under legal disability.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Define and distinguish Res judicata and Res Subjudice.

5. RExplain the revisional jurisdiction of the High Court under the Code of

Civil

Procedure.

6. Discuss the provisions relating to mode of service of summons.

PART C — (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following.
(a)
(b) -
©
(d)

Foreign Judgement,
Distinguish between order and decree.
Place of suing.

Garnishee.




(e) Suit by indigent person.

® Commuissions.
(g) Cross decree and cross claim.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of Law

10.

and decided cases. Give cogent reasons.

Residential buildings were allotted by the Housing Board to the
applicants who belonged to the low income group. After settlement of
price, excess demand was made by the Board. The allottees challenged
the demand by filing a suit in representative capacity. It was contended
by the Board that the suit was not maintainable i a representative
capacity as separate demand notices were issued against each of the
allottees. Decide.

‘A’ holds a decree against ‘B’ for Rs. 50,000. ‘B’ also holds a decree
against ‘A’ only for Rs. 30,000. ‘A’ and ‘B’ each applies for execution of
their decree to court at Madurai, which is having jurisdiction to execute
both the decrees? Decide. : :

X’ sues ‘Y and ‘Z on a Promissory note. Y’ is the principal debtor and Z’
is the surety. An ex parte decree is passed against both. Y’ alone applies
to set aside the decree. Whether the decree is set against Y’ alone or
against ‘Y and ‘Z.

2 H 1409
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H 1411 - [ HZF

B.A., B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2017.

(For the candidates admitted during 2011 and 2012)
Fifth Year — Tenth Semester
PRIVATE INTERNATIONAL LAW

Time : 24 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in abhout 500 words each.

1. Explain the development of Indian Private International Law with
respect to the Tort.

2.  “No one theory can possibly answer adequately the question as to what
are the theoretical bases of Private International Law”. Explain.

3. “The problem of ‘Renvoi’ arises in those cases where the rules of Private
International Law either refer to the law of forum or refer to law of a
\, third country.” Comment and discuss in detail the doctrine of Renvoi.

PART B — (2 x 7 = 14 marks)
Angwer TWO of the following in about 300 words each.

4. Examine the grounds of Void and Voidable Marriage under the English
and Indian Law. ;

5. Discuss the inter-country adoption issues under Private International
Law.

8. Explain various elements of the Incidental question with the help of
suitable illustration.

PART C — (5 x 4 = 20 marks)

7.  Write short notes on FIVE of the following :

(8) Selection of Lex causae

(b) Hague Convention




(¢) Distinction between Public International Law and Private
International Law.

(d) E-Contracts

(¢) Foreign Insolvency Proceedings
() Stay of Proceedings
() Hyde v. Hyde.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons :

: ;
Christie Valintina, an American woman domiciled at France left all the
property to her relatives leaving her only daughter. After her death, the
daughter filed a petition in America claiming right over the property,
Decide.

Ramu domiciled in England has immovable properties lying in England
and movable properties in India, He has a son Siva through his first
wife before his marriage to Sita. Siva was living in India at the time of
the death of Ramu. Sita filed a suit for succession of properties both
movable and immovable in India. Siva challenged the jurisdiction of
Indian Courts. Decide.

X an Indian went to France and married a French girl Y. After
5 years, both migrated to South Africa. They lived for five years in South
Africa. Now X wants to divorce his wife-Decide.

2 - H 1411
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H 1413 _ . HZH

B.A., B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
‘NOVEMBER 2017.

(For the candidates admitted during 2011 and 2012)
Fifth Year — Tenth Semester
INTERNATIONAL TRADE LAW

Time : 2 + hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Write a detailed note on the origin and development of International
Trade Law.

9.  Analyse the salient features of TRIPS, with regard to International
Trade Law.

3. Explain the structure and functions of UNCITRAL.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

»  Examine the notion of Dumping and Anti-Dumping of goods and its role
in international trade.

5. Discuss the salient aspects in Foreign Direct Investment.

6. Enumerate the contribution of GATT in the development of
International Trade Law.

PART C — (5 x 4 = 20 marks)
7.  Write short notes on FIVE of the following :
(a) Alternate Dispute Resclution under UNCITRAL.
(b) North American Free Trade Agreement.
(e G20. _
(d) International Monetary Fund.

(e) Unification of International Trade Law.

(f) International Taxation. .

(g) ASEAN.




PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

Elan Nadu is a state forming part of Bharat Nation. In the State of Elan
Nadu there are manufacturing units of local soft drinks Akamala and
Gapsi. In the year 2010, the Union Government of Bharat Nation passed
a resolution of “Foreign Direct Investment” and informed the state
government (Government of Elan Nadu and others) about the entry of
“Talmark” (Foreign Direct Investor) which will destroy local soft drink
units and wholesale market. A suit was instituted by “Elan Nadu
Vanikar Sangam Peramaippu” stating that loss will occur to soft drink
units and wholesale market. Is the claim maintainable? Advise.

‘

Vibu and Sahu are two neighbouring states in South Asia. River Abu
flows through the above said States and it finally ends in Indian Ocean.
Vibu State wants to construct a dam on River Abu restricting the flow
towards Nishi State. This created tension in South Asian Region. Hence the
matter is tabled before the Regional Court. Ts it maintainable?

India is a signatory to WTO — GATS, hence it allows the entry of
Foreign Legal Firms to practise law in India. But the Bar Council of
India severely objects the actions of the Government of India and sued
before the apex court. Whether BCI can succeed?

25 F ' H 1413
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Register No.

HB1B/CHB1B/HC1B/CHC1B/
H 1415 HD1B/CHD1B

B.Com., LL.B. (Hons.)/B.B.A,, LL.B. (Hons.)/B.C.A., LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted from 2015 to 2017)
First Year -— First Semester
PRINCIPLES OF ECONOMICS
Time : 21 hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1. Explain how price and output of a firm are determined under the
monopolistic market during short period.

2. Describe the general equilibrium model with the help of IS-LM
interaction. -

3. What is Agricultural credit? Explain the working of agricultural credit
ig India? :

PART B - (2 x 7= 14 marks)

Answer TWO of the following in about 300 words each.

4.  Describe the working of Dispute settlement mechanisms in India.

—

9. Explain circular-flow of National Income.
6. Derive Demand using Law of Diminishing Marginal Utility Theory.
PART C — (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following.
(a) Consumer surplus.
(b) Causes for industrial disputes.

{c) Mark-up pricing.

[P.T.0]
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Arc method.
1991 EXIM policy
Redeemable debt.

Liquidity-Trap.
PART D — (6 x 2=12 marks)

Answer SIX of the following very briefly.

(a)
(b)
(©)
(d)
(e)
®
()
(h)

CRR.

Inflation.

Full employment.

Deficit financing.

HDIL

Consolidation of land holding.
NAFED

Demographic Divide.

H 14156
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HB1C/CHBI1C

| H 1416

B.Com,,LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
i NOVEMBER 2017.

(For the candidates admitted from 2015 to 2017)
First Year — First Semester

PRINCIPLES OF MANAGEMENT AND HUMAN RESOURCE
; MANAGEMENT

[

Time : 27 hours Maximum : 70 marks

: ; PART A — (2 X 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1. Describe the nature of control and state its various elements. Why is

control needed in management?

2. What are the weaknesses of trade union movement in India? Suggest

*  the measures for its improvement.

3. Discuss the characteristics of planning and the steps involved in

planning process.

PART B — (2 x 7= 14 marks)

L Answer TWO of the following in about 300 words each.

4. Define the term ‘management’ and state its characteristics.
5. Explain the principles of effective co-ordination.

6. Examine the objectives of Human Resource Management.

[P.T.0.]
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PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following:
(a) What are the objectives of HR audit?
(b} Write the importance of leadership. >
(¢) State the_ characteristics of Collective bargaining.
(d) What are the benefits of training?
(e) Give the elements of staffing.
(f) State the types of managerial decisions.
(g) Write the basic principles of organisation
PART D — (6 x 2 = 12 marks)
Answer SIX of the following very briefly:
(a) Management by objectives
(b) Control
(¢) Planning premises
(d) Departmentation
(e) Remuneration
(f) Forecasting
(g) Humaﬁ resource selection

(h) Workers participation In management.

2 H 1416
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Register N o.

H 1419 ' HBAF/HB2A/HC2A/HD2A]

CHB2A/CHC2A/CHD2

B.Com.,, B.L. (Hons.)/B.B.A., LL.B. (Hons.)/B.Com., LL.B. (Hons.)/
B.C.A., LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2017.

(For the candidates admitted from 2011 to 2016)

First Year — Second Semester

BUSINESS ENGLISH

‘

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

Define communication and discuss the methods of communication.
Analyse the impact of e-communication in a globalised world.

Discuss the importance of business correspondence with the example of
insurance correspondence.

PARTB — .(2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
What are the essentials of égency correspondence?
Explain understanding skills. ‘

Discuss the seven ‘Cs’ of style.

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(@ What are the characteristics of informal or grapevine
communication? :

(b) What are the barriers to communication?

(c) Discuss the objectives of ‘Interview’,

[P.T.0]
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(D

(e)

®
(g)

What points should be included in an appointment letter?

Discuss the five types of a good sales letter.
Highlight the functions of banks.
Analyse the important duties of a Company Secretary.

PART D — (6 x 2 = 12 marks) |

Answer SIX of the following very briefly.

@
(b)
(©)
GY
(e)
®
(g)
(h)

Agenda.

Minutes book.

Types of memo.

Office order.

Fax.

Advice for safe delivery.

What does AIDA denote? ;

How to evaluate performance of candidates in interview?

H 1419
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Register No.

B.Com., LL.B. (Hons.)/B.C.A. LL.B. (Hons.)/B.B.A. LL.B.'(Hons.)
DEGREE (SEMESTER) EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted during 2015 and 2016)

First Year — Second Semester
SOCIOLOGY

Time : 2+ hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.
Define Socioclogy and describe the scope of Sociology.

What is social stratification? Describe the various forms of social
stratification.

Enumerate the social status of women in Indian society.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

Write a note on the various agencies of social control.
Discuss the importance and functions of marriage.

Critically highlight the changing trends in the caste system of Indian
society.

PART C — (5 x 4= 20 marks)

Write short notes on FIVE of the following :
(a) Achieved status

(b) Feminism

(¢) Non Governmental Organisation

(d). Urbanisation

(e) ~ French Revolution

(f) - Control by Law

(g) The Hindu Marriage Act of 1955.

[P.T.o.j
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PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)
(c)
(d)
(e)
@
(&
(h)

Out group

Joint family
Exogamy
Patrilineal family
Social morphology
Consanguineous kin
Mesolithic stage

Formal control.

H 1473
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Register No.

H 1420 PG

B.Com., B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2017.

(For the candidates admitted during 2013 and 2014)
First Year — Second Semester

PRINCIPLES OF MANAGEMENT

Time : 24 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

Explain briefly the various functions of management.
Discuss the various steps involved in the process of planning.

What is functional organisation? What are its advantages and
disadvantages?

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
Discuss Maslow’s Hierarchy of needs.
Explain the principles of legal ethics.
Discuss the various stages in the control process.
PART C — (5 x 4 = 30 marks)

Write short notes on FIVE of the following :

(a) Differentiate administration and management.
(b) What is meant by span of control?

(¢}  What are objectives?

(d) What is an organisation chart?

) How té make delegation effective?

(f) Who is a functional leader?

(g) What are the characteristics of control function?

[P.T.O]
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& - PART D —— (8 x 2 =12 marks)

8. Answer SIX of the following very briefly :

(a) Management by cbhjectives.

:} (b) Co-ordination.

é (¢) Delegation of authority.

j (d) Decision-making.

5 () Democratic leader.

"E (D  Authority and responsibility.
§ (g) Recruitment.

a (b) Ethics.

]
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Register No.

HB3A/HC3A/

HD3A/CHB3A/|

CHC3A/CHD3A

B.Com. LL.B. (Hons.)/B.B.A. LL.B. (Hons )/B.C.A. LL.B. (Hons)

DEGREE (SEMESTER) EXAMINATIONS, NOVEMBER 2017.

Time : 2%

(a)
®)
©
()
(e)

@
(g

(For the candidates admitted from 2015 to 2016)
Second Year — Third Semester
s POLITICAL SCIENCE
hours : Maximum : 70 marks

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about. 500 words each.
Define State and discuss Unitary and Federal state.

2.  What are the essential features of Presidential form of Government and
discuss 1ts. merits and demerits.

3. Discuss the six principles of Realism.

PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.
Discuss the divine origin theory of State. |
Define Sovereignty and discuss Monistic theory of Sovereignty.
Examine the World Waf I1 and its impact.

PART C — (5 x 4 = 20 marks)

7. = Write short notes on FIVE of the following 3 '

Kinds of Justice.

Patriarchal theory.

Structural and functional Analysis.
Fundamental rights. ;
Aristotle’s classification of Government.

Elements of National power.
Separation of powers and Checks and Balances.

[P.T.0.]
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Answer SIX of the following very briefly.

()
()
(c)
(d)
C)
®
(&
h)

PARTD —(6x2=19 marks)

Political science and Jurisprudence.
Hobbes.

Disarmament

Rights in a wider sense.

Merits of dictatorship.

Bi-polar world.

Terrorism.

Environmental 1ssues:

H 1485
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Register No.

B.Com., B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
5 NOVEMBER 2017,

(For the candidates admitted during 2013 and 2014)
Second Year — Third Semester
FINANCIAL MARKET AND SERVICES

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

Critically analyse the present position of financial-service sector in India
and state the challenges it has to face in the years to come.

What is debt securitization? Discuss its modes of operations. What are
the various benefits of securitisation?

Explain the different types of factoring and their significance.
PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

Classify various Financial intermediaries functioning in Indian financial
system and bring out their features.

E)iplain the different types of mutual funds available in Indian financial
market.

What is venture capital? Describe the scope of venture capital in India.
PART C — (5 x 4 = 20 marks)
Write short notes on. FIVE of the following :

(a) List out and explain different types of financial services offered by
banks in [ndia.

(b) Enumerate the different functions of factoring.

(¢) List out the advantages of leasing.

[P.T.O.]
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(d)
(e)
@
(8

Briefly explain recourse and non-recourse factoring.

What are the primary functions of Insurance?
Describe the basic functions of banks.
Explain index fund and its features.

PART D — (6 x 2= 12 marks)

Answer SIX of the following very briefly :

(a)
(b)
()
(d)
(e)
@
®
(h)

List out the money market intermediaries.

What is meant by benefit societies?
Define Treasury bill. |

What is operating lease?

Mentipn the types of credit rating.
What are in-store cards? |

What is meant by money laundering?

Expand CSDL and CRISIL.
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Register No.

HBBA

B.Com.,, B.L.. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,

NOVEMBER 2017.
(For the candidates admitted during 2013 and 2014)
Second Year — Third Semester
SOCIOLOGY
Maximum ¢ 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

Describe the hurdles faced by women in Modern India.

Define social control and explain the various types of social control.

Discuss the characteristics and functions of social stratification.

>

PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

Explain the origin and development of sociology.

Differentiate between primary and secondary groups.

Examine the changing status of women in India.

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following.

(a)
(b)
(©
(d)
(e)
®
(g)

Self — help Groups
Achieved Status
Women Empowerment
Mass Media

Social Institutions
Occupational Theory
Types of family.

[P.T.0.]
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PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)
(b)
i)
(d)
()
@
(2)
(h)

Couvade.
Monogamy.
Organised Groups
Estate

Material Culture
Regional diversity
Kinghip

Social Morphology.

H 1422
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H 1418

B.Com., LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
'NOVEMBER 2017.

(For the candidates admitted during 2015)
Second Year — Third Semester

FINANCIAL MARKET AND INDIAN ECONOMIC ISSUES

Time : 2% hours Maximum : 70 marks

- PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1. Explain various kinds of Financial Services.
9.  Explain the role of SEBI in securities market.

3 What is Mutual Fund? Explain its objectives and benefits.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
4> List out the importance of capital market.
5. Distinguish between primary market and secondary market.

6. List out any five problems of small scale industry.

PART C — (b x 4 = 20 marks)

7. Write short notes on FIVE of the following :
(a) What is debenture? Mention any two types.
(b) What is Lease? Mention any two types.
(¢) What is money laundering? Mention any two types.

(d) What is money market? Give any two types of money market
instruments.

[P.T.0]
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() What is industrial policy? Briefly explain.
() What is meant by HDI? Explain.

(g) List out any four characteristics of Indian Economy.

PART D — (6 x 2 = 12 marks)

8. Answer SIX of the following very briefly
(a) What is capital market?
(b) What is bond?
(¢) Whatis Credit Rating Agency?
(d) What is meant by currency swap?
(¢) What is De-mat Account?
() What do you mean by Green Revolution?
() What is small scale industry? ¢
(h) What is hire purchase?

:
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Register No.

B.Com., LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,

NOVEMBER 2017.
(For the candidates admitted during 2016 onwards)
Second Year — Third Semester

FINANCIAL MARKET AND MARKETING MANAGEMENT

Time : 24 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

What is financial services? and explain the problems and challenges of

financial services in India.

Define credit rating. Discuss the importance and role of CRISIL and
ICRA agencies.

Describe the role and functions of SEBI in controlling stock exchange

" market in India.

PART B — (2 x 7 = 14 marks)

Answer TWO of the followling in about 300 words each.
Explain the factors that affect the buying decisions of a Consumer.
Deﬁné leasing and what are the different types of leasing.

Explain product life cycle.
PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :
(a) Role of capital market.l
(b) Issue management

(c) Venture 'capital financing

[P.T.0.]




(d) Portfolio management
(e) Classification of product
() Importance of money laundering

(g) Consumer goods and Industrial goods.

PART D - (6 x 2 = 12 marks)
Answer SIX of.the following very briefly :
(a) Financial market
(b) Underwritiﬁg
(¢} Mutual Fund
(d) Money laundering.
(e) Sales promotion
(f) Branding

(g) Currency swap

(h) Positioning.

H 1472
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Register No.

H 1475 HBBH

B.Com., B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2017.

(For the candidates admitted during 2013 and 20 14)
Second Year — Fourth Semester

INDIAN ECONOMICS AND HUMAN RESOURCE DEVELOPMENT
Time : 24 hours ‘ ' Maximum : 70 marks

PART A — (2 %X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1.  What are the issues and challenges faced by Agricultural labourers in
India?

9 FEnumerate the measurement and magnitude of poverty in India.
Explain the steps taken by the Government through Eradication of
poverty programmes in India.

3.  HExplain the role of Human Resource Development in today’s business
organizations.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4 What are the methods of calculating National Income in India?

5  Mention some Acts on labour legislations in India and explain their
legal provisions.

6. Explain some Empldyment Generation Programmes in India.
PART C — (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following :

(a) Inequalities of income and wealth

(b) Economic and non-economic factors affecting growth
(c) Sources ongricultural Credit

(1) Land reforms in India

(e) TFunctions of Trade Union

(f)  Population Policy 2000

() Measures of Human Development.

(P.T.0]




8.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)
(b)
(©
(d)
(e)
@
(g)
(h)

NNP

Regional imbalances
Disguised unemployment
Social security schemes
NSSO

PQLI

Economic planning

Industrial dispute.
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H 1425 HBCB/HB5A

B.Com., B.L. (Hons.)/B.Com., LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted during 2013, 2014 and 2015)
Third Year —— Fifth Semester
FINANCIAL MANAGEMENT

Time : 24 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

[

1. What are the various functions of a Finance Manager?

2. Kinley Litd. issued 50,000, 10% debentures of Rs. 100 each, redeemable
in 10 years time at 10% premium. The cost of issue was 2.5%. The
company’s income tax rate is 35%. Determine the cost of debt (before as
well as after tax) if they were issued (a) at par; (b) at a premium of 5%.

3 The cost of capital and the rate of return on investment of Rafael Litd.
are 10% and 18% respectively. The company has 5 lakh equity shares of
Rs. 10 each outstanding and earnings per share are Rs. 20. Compute the
market price per share and value of firm in the following situations. Use
Walter mode] and comment on the results.

(a) No retention
(b) 40% retention
(c) 80% retention.

PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.
4.  Malini Ltd. issued 60,000, 15% irredeemable preference shares of Rs.
100 each. The issue expenses were Rs. 60,000. Determine the cost of

preference capital if shares are issued (a) at par (b) at a premium of 10%
and (¢) at a discount of 5%. :

[P.T.0]




Sind Ltd., & widely held company, is considering a major expansion of its
production facilities and the following financing alternatives are
available :

Alternatives (Rs. in Lakh)

B Y Z

Equity share capital (Rs. 10 each) 60 30 - 10

- 12% debentures - 20 25
15% loan from a financial institution — 10 25

Expected rate of return before tax is 20%. The rate of dividend of the
company is not less than 18%. The company at present has low debt.
- Corporate taxation is 35%. Which of the alternatives you would choose?

What are the advantages of having adequate working capital in a firm?

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(a) From the foﬂowing information, calculate operating leverage :
No. of units produced anﬂ sold : 30,000
Selling price per unit : Rs. 20
Variable cost per unit : Rs. 10

Fixed cost per unit at current level of sales is Rs. 5. What will be
the new operating leverage if the variable cost is Rs. 127

(b) Explain the net income approach to capital structure.

(c) Samyo Ltd. issued 11,000, 11% preference shares of Rs. 100 each.
- The shares are redeemable after 11 years at a premium of 5%. The
issue expenses are Rs. 3 per share. You are asked to find out the

cost of redeemable preference share capital. ‘

(d) The following information relates to Rahr Ltd. :

; Karnings per share = Rs. 12; Cost of capital = 12% ;'Rate of return =
- 18%. Determine the market price per share under the Gorden °
model if retention is (1) 50% (i) 60% (iii) 10%.

(e) Discuss the different types of dividend.




24

(H  The following information is available in respect of Amla Ltd. :
Stock holding : Raw materials : 1 month.
Work-in-progress : 15 days, Finished goods — 1 month.
Debtors collection period : 2 months
Time lag in payment of bills : 45 days.
Calculate :
(1) Operating cycle.

(ii) Number of operating cycles in a year assuming a 360 day
_year.

(iii) Average working capital required, if annual cash operating
expenses are Rs. 180 lakh.

() What factors would you take into account in planning the working
capital requirements?

PART D — (6 x 2 = 12 marks)

8. Answer SIX of the following very briefly :
(a) Define the term ‘Financial managerﬁent’.
(b) The following information relates to Siddle Ltd. :
EPS — Rs. 10
IRR — 18%
Cost of capital — 20%
Péyout ratio — 40%
Y Compute the market price under the Walter's model.
(¢) What is meant by capital structufe?
(d) Explain the term ‘leverage’.

(¢) Ganesh Ltd. issued 2,000, 9% debentures of Rs. 100 each at a
premium of 10%. The issue expenses are 3%. The tax rate is 40%.
Calculate cost of debt before tax and after tax.

(f) What do you understand by fixed working capital?

() Name the sources of working capital.

(h) What is meant by dividend policy?
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H 1424 HBCA/HB4A

B.Com., B.L. (Hons.)/B.Com., LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted during 2013, 2014 and 2015)
Third Year — Fifth Semester/Second Year — Fourth Semester
MARKETING MANAGEMENT

Time : 24 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Explain the nature of marketing. 4
9. Describe the buying process of a consumer.
3. Elaborate the life cycle of a product.
PARTB —(2x7=14 marks)
Answer TWO of the following in about 300 words each.

4, Explain the benefits offered by the wholesalers.

5. Explain the various factors influencing the advertising budget
allocation.

8. Describe the various methods of pricing.

PART C — (5 x 4 = 20 marks)

7.  Write short notes on FIVE of the following :
() Green marketing and ethical issues.
(b) Objectives of marketing.
(¢) Micro marketing.
(d) Market Segmentation — Indian car industry.
(e) Industrial buying process.
(f) Benefits of branding.
(g) Trade discounts.

[P.T.O.]




PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

()
(b)
(©
(d)
(e)
®
(g)
(h)

Advertising.

Sales promotion.
Consumer goods. :
Motivation.

Competitive pricing.
Labelling.

Post-Purchase behaviour.

Marketing management.

H 1424
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H 1426 e _A  |HBCF/HB4B

B.Com.,B.L. (Hons.)/B.Com., LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted during 2013, 2014 and 2015)
Third Year — Sixth Semester/Second Year — Fourth Semester
COST AND MANAGEMENT ACCOUNTING

Time : 21 hours : : : " Maximuin : 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. A factory produces 100 units of a commodity. The cost of production is

Rs.
- Materials 10,000
Wages 5,000

" Direct expenses 1,000

Factory overheads are 125% on wages; Office overheads are 20% on
works cost. Expected profit is 25% on sales. Calculate the price to be
fixed per-unit.

2. The following 1nformat10n is extracted from the stores ledger :
Issue of materials

Sep. 1 Opening balance 500 units at.RS. 10
6 Purchases 100 units at Rs. 11 Sep. 9 500 units
20 Purchases 700 units at Rs. 12 | =8 U R Munies
27 Purchases 400 units at Rs. 13 30 500 units
Oct. 13 Purchases 1,000 uﬁits at Rs. 14 Oct. 15 500 units
- 20 Purchases 500 units at Rs. 15 22 500 units
Nov. 17 Purchases 400 units at Rs. 16 Nov. ~11 - 500 units

Issues are to be priced on the principle of ‘FIFQ’. Write the stores ledger
account. :

3. What is meant by absorption of overheads? Explain br1eﬂy the dlfferent
methods of absorptmn of overheads.

[




PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

From the following data for the last twelve months, compute re-order
level, minimum level and average stock level of a stock item :

Maximum usage in a month 300 kg,
Minimum ugage in a month 200 kg.

Average usage in a month 225 kg.

Time lag in the procurement of-materi_alé -
Maximum — 6 months ; Minimum — 2 months
Re-ordering quantity — 750 kg.

Explain what is labour turnover and what are the methods of
measurement of labour turnover.

From the data given below, compute machine hour rate :
Cost of the machine Rs. 90,000 7 V
Installation charges Rs. 10,000

Estimated scrap value Nil

Estimated repair charges per year Rs. 1,000

Estimated working life of the machine 10,000 hours
Standing charges allocated to the machine per year Rs. 6,000
Estimated working hours per year 2,000 hours

Power consumption of the machine is 20 units per hour and the rate of
power per 100 units 1s Rs. 10.

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :
(a) Fixed overhead Rs. 1 , 20,000

Variable overhead Rs. 2,00,000

Dlrect wages Rs. 1,50, OOO

Direct materials Rs. 4,10,000~

Sales Rs. 10,00,000

Calculate Break-even point and the P/V ratio,
(b) What are the advantages of budgetary control?




82

(©

@

(e)

0

(g)

a5

From the following particulars, you are required to calculate the
prime cost percentage rate of works overheads :

Works overheads of a department ; Rs. 7,50,000
Direct wages : Rs. 7,560,000
Direct material cost - Rs. 22,50,000

Distinguish between allocation and apportionment of overheads.

Calculate earnings of 3 workers A, B, C under the Merrick’s plan of
piece rate system given the following :

Standard production = 120 units
Production of A = 90 units
Production of B = 100 units
Production of C = 130 units
Ordinary piece rate = Re. 0.10

A manufacturer buys certain equipment from outside! suppliers at
Re. 30 per unit. Total annual needs are 80,000 units. The following
further data are available. '

Annual return on investment - 10%

Rent, insurance, taxes per unit per year Rs. 13
Cost of placing an order Rs. 100 '
Determine the economic order quantity.

What are the elements of cost?

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)

()
(d)

What are the methods of costing?
Prepare a cost sheet with the following details :

Raw materials consumed Rs. 80,000

* Wages Rs. 20,000

Works overheads are charged at 100% of wages, office overheads
are charged at 25% on works cost and selling ovexheads at 10% on
works cost.

What is Re-order level?

There were 8,000 workers in a factory on 1.1.97. New entrants in
service during the year were 400 and leavers were 200. Calculate
labour turnover rate. :

3 ‘ : H 1426
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()

(h)

A worker completes a job in 12 hours. The standard time allowed
for the job is 20 hours and hourly rate of wages is Rs. 2. Ascertain
his total earnings under Rowan plan.

What is meant by over - absorption of overheads?

From the following data, calculate P/V ratio

Sales " Rs. 20,000
Fixed expenses Rs. 4,000
Break-even point Rs. 10,000

With the following data for 60% activity, prepare a budget for 80%
activity :

Materials Rs. 10 per unit

Wages Rs. 6 |

Factory overheads Rs. 6,000 (20% fixed) -
Administration overheads Rs. 2,400 (10% Varigble)'
Assume that production at 60% activity is 240 units.

¥

1
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H 1427 _ |  [EBCGMHBSB

B.Com., B.L. (Hons.)/B.Com., LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2017.

(For the students admitted during 2013, 2014 and 2015)
Third Year — Sixth Semester/Fifth Semester
"~ PRACTICAL AUDITING
 Time : 24 hours ' Maximum : 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
Discuss in brief the advantages and limitations of auditing.‘
2. Explain the statutory duties of a company auditor.
Explain the procedure of audit under EDP system.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Briefly explain the objectives of internal control system.

What are contingent liabilities? Give five examples of such liabilities.
What is the method by which you would satisfy yourself at the time of
audit that all contingent and outstanding liabilities have been disclosed
in the balance sheet?

%.  What is secret reserve? Discuss briefly the duties of an auditor in regard
to secret reserve.

PART C — (6 x 4 = 20 marks)
7.  Write short notes on FIVE of the following :

(a) Distinguish between auditing and investigation.
(b) Advantages of audit note book.

(c) Objectives of vouching.

(d) Need for depreciation.

(e) Liabilities of an auditor.

() Contents of an audit report.

(g) Characteristics of auditing through the computer.




PART D — (6 x 2 = 12 marks)

8. - Answer SIX of the following very briefly.
(a) Internal audit.
(b) Working papers.
(¢ Test checking.
(d) Valuation of liabilities.
(e) Verification of sales returns.
()  Methods of depreciation.
(g) Auditors lien.
(h) Auditing i:hrough the computer.

9 | H 1427
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H 1478 - HhLE

B.Com. B.L./ (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2017.

(For the Candidates admitted during 2013 and 2014)
~ Third Year — Fifth Semester
COMPANY LAW
Time : 24 hours ' ‘ Maximum : 70 marks
‘ PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words eacjh.

1. “A Company is a legal entity distinct from its members”. In what cases
do the court ignores this principle?

2. . Define Prospectus and explain the provisions relating to civil and
criminal liabilities for misstatements in the prospectus. %

3.  “Majority will have its way but the minority must be allowed to have its
say” — Discuss.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words. each.
Discuss the provisions relating to voluntary winding up.

Discuss the requisites for a valid meeting of a company.

o OU

Discuss the scope of the Doctrine of Indoor Management; To what extent
has the doctrine been incorporated in the Companies Act.

PART C — (5 x 4= 20 marks) =
7. Write short notes on FIVE of the following.
- (a) Holding and Subsidiary Company.
(b) Promoters
- (¢) Independent director
(d) Auditors

[P.T.0]




(e) Corporate social responsibility
(® Insider Trading
(&) Private Company.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant-provisions of law

10.

and decided cases. Give cogent reasons.

An application was made by a father as a guardian of his minor
daughter for certain shares. The company registered the shares in the
name of the daughter described as minor. The company went into
liquidation and the name of the father was placed on the list of
contributories. Is he liable as such?

-The Articles of a company provided for the reference of disputes between

the members and the company to arbitration. ‘H, a plembér brought an
action against the company which applied to the court for a stay of the
proceedings. Will the company succeed? ¢

‘A’ takes proceedings against the directors of a company of which he is a
member to compel them to take good the losses sustained by the
company owing to their fraud. Will he succeed?

2 . H 1478
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HC1C/CHC1C

B.B.A,, LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2017.

(For the candidates admitted during 2015, 2016 and 2017)
First Year — First Semester

BUSINESS MANAGEMENT AND ETHICS

Time : 21 hours Maximum : 70 marks

oL e

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

Explain the contribution of Henry Fayol to the Principles of
Management with examples.

Explain the steps in the planning process.
Explain the methods of establishing control.
PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
Explain the benefits of Centralization and Decentralization.

How is management by objectives understood? Discuss briefly about the
process of management by objectives.

What is Span of Control? Discuss about various factors which will
influence the Span of Control.

PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following.
{a) Describe the drawbacks in MBO.
(b) List out and explain the elements of organizational structure.
(¢) Describe the benefits of Informal Organization.

(d) Explain the process of decision making in an organization.

[P.T.O.]




(e) Describe the leadership styles followed in organizations.
(f) What are the advantages of Management by exception?
(g) What are the objectives of planning?

% PART D — (6 x 2 = 12 marks)

‘ 8. Answer SIX of the following very briefly :

i (a) Define MBE.

' (b) Who is referred as father of Scientific Management?

(¢ What are objectives?

(d) Define strategy.

(e) Write the meaning for organizational structure.

() What are the advantages of matrix type of organization?
(g) What is budgetary control technique?

(hy Define informal organization.
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H 1430 HC2B/CHC2B

B.B.A., LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2017.

(For the candidates admitted during 2015 and 2016)

Tirst Year — Second Semester

HUMAN RESOUR CE MANAGEMENT AND ORGANISATIONAL
' BEHAVIOUR

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
4
1. Discuss the nature and characteristics of HRM.

9 What are the various sources of recruitment? Discuss their relative
merits and demerits. :

3. Explain briefly the various methods of job evaluation.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Bring out the qualities required for a good HR manager.
Discuss the process of Human Resource Planning.
6. Explain the different components of financial compensation.

PART C — (5 x 4 = 20 marks)

7 Write short notes on FIVE of the following :
(a) TFactors influencing perception.
() Features of grievance. '
(c) Essentialsof a wage system.
(d) Merits of ranking method of evaluation.
(e) Job description.
() Types of labour movement.

(g) Financial and Non-financial incentives.

[P.T.O]




PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

()
(b)
(©)
(d)
(e
®
(g)
(h)

Define human resource management.
Long term planning.

Job rotation.

In-depth interview.
Induction.

Apprenticeship training.
Management by objectives.

Collective bargaining.




Register No.

H 1471 ' HC3B/CHC3B

‘B.B.A., LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2017.

(For the candidates admitted during 2015 and 2016)
Second Year = Third Semester

FINANCIAL AND MANAGEMENT ACCOUNTING

Time : 2% hours : : ‘ Maximum : 70 marks
PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1.  Journalise the following transactions :
(a) Purcilased goods for cash Rs. 10,000
(b) Purchased stationery for cash Rs. 500
(c) Purchased ﬁxrﬁiture for cash Rs. 3,000

(d) Sold goods for cash Rs. 8,000 '

e) Sold goods to Jane for cash Rs. 3,000
® Sold goods to James for Rs. 2,000
(g) Paid rent to Krishnan, tile landlord Rs. 800
' (h) Paid salary of Rs. 8,000
(i) Paid Lokesh, the manager his salary (:;f- Rs. 3,000
G) Paid freight (;n goods purchased Rs. 300
k) Pad freight on machine purchased Ré. 400

@) Paid wages Rs. 500

PTO]




The Balance sheet of Padma and Renuka on 31t March 2000 is set out

- below. They share profits and losses in the ratio of 3:1

Liabilities Rs.  Assets Rs.

Capital : Land and Buildings 30,000
Padma 40,000 Furniture 2,000
Renuka 30,000 Stock : 8,000

General reserve 20,000 Sundry debtors 60,000

Sundry creditors 20,000 Cash 4,000

Profit and Loss a/c 6,000 |
©1,10,000 . 1,10,000

They agreed to admit Kavitha into the firm, subject to the following
terms and conditions : '

(@) She will be entitled to one forth share of the profits

(b} She will bring in Rs. 21,000 of which Rs. 10,000 will be treated as
her share of goodwill to be retained in the business.

() Depreciation to be provided on furniture 15%
(d) Stock to be revalued at Rs. 6,500

(e 50% of the general reserve is to remain as a provision for bad and
doubtful debts

Construct the Balance Sheet of the firm.

What is Management Accounting? How does it differ from Financial
Accounting? P

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

What is the procedure used to compute ARR? What are the merits and
. demerits of ARR method? :

Following are the ledger ba_lanceé of Sri Rao. You are asked to prepare
trial balance as on 31.12.2000. :

Rs.

Capital 9,000

Plant 12,000

Purchases 8,000

- Sales ) 12,000

Sundry creditors 8,000

. - Bank loan 22,000
2 . H11471




] , Rs,
Rent outstanding 1,000
Opening stock 2,000
Sales returns 4,000
- Investments 14,000
Debtors 12,000

Amitabh keeps his books under single entry system. Assets and
Liabilities on 31.12.93 and 31.12.94 stood as follows :

Cash

. Bank balance
Stock
Sundry debtors
Furniture
Sundry creditors

- 31.12.1993 31.12.1994

Rs. Rs. .~

10 2,000

990 10,000

7,000 10,000
15,000 20,000 .

3,000 3,000

3,000 6,000

¢

He introduced an additional capital of Rs. 3,000 during 1994. He
‘withdrew Rs. 7,000 for his domestic purpose.

- Find out the profit for 1994.
' PART C — (5 x 4= 20 marks)

7. Answer FIVE of the following :
(a) A project costs Rs. 2,50,000 and yields an annual cash inflow of :
Rs. 50,000 for 7 years. Calculate its payback period. I
(b) Anand starts business with Rs. 10,000 on 1.7:86. Of this, he pays ‘ [
Rs. 9,000 into his bank account. His cash transactions during the ' 1
\, first week were : : :
Rs.
July 1 Purchased stationery and paid cash 40
Purchased goods for cash 650
Purchased office table and chair - 200
2 -Cash sales ; 7 150
3 Received from Gopal as advance for a
consignment of goods 200
4 Paid Sethi & Co cash © 140
5 Paid for signboard | - 130 4
6 Cash sales ' 160 &
Purchased old typewriter : 300
Caleulate his closing cash balance.
ES : - H 1471
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©
(&

(e)

. ®

(g)

What is Going concern concept? Explain.

"From the following particulars, calculate inventory turnover ratio

Rs.
Cost of goods sold  4,50,000
Opening stock 1,25,000
Closing stock 1,75,000
List out the usefulness of financial statements.

Calculate the debt-equity ratio from the following :

Long term debt - Rs. 2,50,000
Share capital — Rs. 4,00,000
Retained earnings -~ Rs. 1,00,000

List out the importance of cash flow statement.

PARTD — (6 x 2 =12 marks)

Answer SIX of the following briefly :

@
(b)
(©)
(d)
e)

®
(g

(b

What is payback period?

What is journal?

Write a noté on Profit and Loss account.
What is i)artnership firm?

Find out sacrifice ratio from the following information. A and B
share in the ratio of 3:2. “C” is admitted as a partner and given
one-fifth share.

What are financial statements?

Goodwill is valued on the basis of 2 years’ purchase of average

profits of the preceding three years.

2004 Rs. 44,000, 2005 : Rs. 56,000, 2006 : Rs. 68,000
Calculate the amount of goodwﬂl. ;
What is meant by Sacﬂﬁcing Ratio?

4 ‘ H 1471
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H 1431 HC4A

B.B.A., L.L.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2017.

(For the candidates admitted during 2015)

SQecond Year — Fourth Semester

COMPUTER FOR MANAGEMENT AND MANAGEMENT
INFORMATION SYSTEMS (MIS)

Time : 24 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.i

1. Explain the features of MS — Word. Discuss various applications of
MS - Word.

9. Compare and contrast the file—oriented approach and the data—base
approach. Explain the main advantages of database systems.

3. Explain in detail the stages of SDLC.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
A Who are the different types of database users? Explain their roles.
5. Explain the function commonly found in an IS for
(a) Manufacturing company
(b) Departmental store

6. Explain the role of a system analyst.

[P.T.O.]
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PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the followings :

(@)
(b)
©
(d)
©)
®
(2

Elucidate the benefits of a client/server system.

Explain the components of Marketing Information System.
What is absolute cell reference? Provide example.

What are the benefits of IS Audit?

Explain the physical components of MIS.

What are the various objects available in MS Access?
What are the drawbacks of EDI?

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)
(b)
(©
(d)
(e)
()
)
(h)

Distinguish between data and information.

What is meant by thesaurus?

State the uses of Auto correct option in MS—Word.
Define Queries.

What is data modelling?

What is EDI?

What is Intranet?

List the types of IS Auditors.
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B.B.A., LLB. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2017. j

(For the candidates admitted during 2015)

Second Year — Fourth Semester

MANAGERIAL ECONOMICS

Time : 21 hours Maximum : 70 marks

SERUAE

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

What is demand forecasting? Explain the techniques of demand
forecasting. :

What is national income? Discuss the various methods of measurement
of national income.

“Managerial Economics is economics applied in decision making” -
Explain. ,

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

What is monopolistic competition? Explain its features.

“»Briefly explain the following with examples.

(a) Fixed cost
(b) Variable cost
(¢) Opportunity cost
(d) Sunk cost.
What are the features of Perfect competition?
' PART C — (5 x 4 = 20 marks)
Wrife short notes on FIVE of the following :

(a) Explain the demand function.

(b) What is Break-even point? What are its assumptions?

[P.T.O.]




(c)

(d)
(e)
®

(g

What is Price discrimination? Under what conditions Price
discrimination is possible?

Define marginal cost. How is it calculated?
Explain Grossman-Hart-Moore theory with example.

Explain the role of government in determination of price and
quantity in a market.

Elucidate your understanding on theory of revenue.

PART D — (6 x 2 =12 marks)

Answer SIX of the following very briefly.

(a)
(b)
(©)
(d)
(e)
@
(g
(h)

Scarcity

Income elasticity

Delphi technique in forecasting
PPF

Net present value

Economies of scale

Accounting profit

Mark-up pricing.
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H 1469 ot e HC5A

B.B.A,, LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2017.

(For the candidates admitted during 2015)

Third Year — Fifth .Semester
STRATEGIC MANAGEMENT
Time.: 21 hours Maximum : 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each;'

1: What 18 Cofp_orate Governance? Indicate how @and why companies are

embracing corporate governing practices?

2: 'EXplain the generic building blocks of competitive advantage. How to

achieve this competitive advantage and make it durable?

3 Tlow can a decision maker identify strategic factors in the corporation’s

macro environment and micro environment?
~ PART B — (2 x 7= 14 marks)

Answer TWO of the following in about 300 words each.
4. Explain the steps in control process.
5 What is balanced score card? Explain with Indian examples.
6. Explain the techniques of strategic evaluaﬁion and coﬁtrol.

PART C — (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following:
(a) HKExplain the importance of GE matrix.

(b) What measures would you suggest for effective ‘corporate
governance?

[P.T.O.]




(c) Explain the steps involved in strategic decision making process.
(d) What is portfolio analysis? Explain its steps.
‘(e) What are the functions of Board of Directors in an organization?
() Explain the characteristics of a corporate policy.
(g) What are the possible elements of an organization identified as
© part of SWOT analysis? _
PART D —: (6 x 2 =12 marks)

Answer SIX of the following very briefly:
(a) Strategy

(b) Social responsibility of business

(©) Value chain analysis

(d) BCG matrix

(e) Corporate culture

63) 'E'nvironméntal scanning

(g) Maission statement

(h) Strategic Alliance.
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B.B.A.,LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMRER 2017. '

(For the Candidates admitted during 2015)
" Third Year — Fifth Semester
FUNDAMENTALS OF MARKETING MANAGEMENT

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each!

Discuss the significance of segmentation, targeting and positioning in a

company’s marketing strategy.

What is product mix? Discuss product mix strategies with reference to

some Indian Company. .
S{:ate and exp'lain the various kinds of advertising.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

Define online buying behaviour. What are the advantages and

disadvantages of it?

How are services defined and classified? Explain.

Explain the scope and characteristics of service sector.
PART C— (5x 4= 20 marks)

Write short notes on FIVE of the 'following‘ i

(a) What 1s customer reIaﬁionéhip management? Explain its
impertance in present day organizations.

(b) What is product life cycle? Explain its stages.
{¢) List out different types of pricing. Explain them.

[P.T.0




(d)
(e)
®
(2

What are the functions of marKketing middlemen?

Explain the components of marketing mix.

List out and explain the factors influencing channel decisions.
Explain.the factors influencing consumer buying behaviour.

PART D — (6 x 2 = 12 marks)

Answer SIX of the fdllowing very briefly :

()
(b)
(©
(d)
(e)
®
(2)
fedly

Marketing research.
Services rharketing.
Re-positioning a product.
Elements of promotion mix.,
Market segmentation.
Brand positioning.

Sales promotion.

Customer retention.
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H 1462 B _ ol HD1C/CHD1C

B.C.A., LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
' NOVEMBER 2017.

(For the candidates admitted during 2015,2016 and 2017)
; -First Year-;— First Semester
COMPUTER FUNDAMENTALS AND OFFICE AUTOMATION
Time : 24 hours _ R , Max1mum 70 marks '
PART A — (2 x 12 = 24 marks)
Answer TWO of the f(‘)llowing in aboet 500 words eeq!h. )

‘Explain how text formatting and text mampulatmg are done in
MS-Word ‘

Why we need multiplexer and explain rits_v'vorking phenomenon?

De'fine Memory. Discuss on classificatiens of memory.
PART B — (2 x 7= 14 marks)

.,Answer TWO of the following in about 300 words each.
Explain the characteristics of an operating system. -

Define query and explain how queries are created and executed.

.Elueidate-_counters in detail.
PART C — (5 x 4 = 20 marks)

'Write short notes on FIVE of the following:

(2) List any four formulas in Ms-Excel. Give example.

(b)  Describe half adder. . ;

(c) State’ the d1fference between S-R flip ﬂop W1th J°E. ﬂlp ﬂop

(@) Define processor.
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(e) Mention the steps involved I creating a presentation using
template.

()  How drag and drop down is used in Excel?

(8) How wizard helps in creating a Power Point presentation?

PART D — (6 x 2 =12 marks)

8. Answ_er SIX of the following very briefly:
(a) Page setup. )
(b) = Macreo.
(¢} Control bus,
(d)  Compare primary key and foreign key.
(e) Note page view,
(f) Active.cell,

(g) Distributive law.

(h) Universal gates
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H 1483 HD2B/CHD2B

B.C.A,, LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2017.

(For the candidates admitted during 2015 and 2016)
First Year — Second Semester

PROGRAMMING IN ‘C’ AND ALGORITHMS

Time : 2 L hours Maximum ; 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Why decision making is important in program? Describe each decision
statements with an example.

2.  Explain types of functions and argument passing in detail.

3. How non-—linear data structure is implemented? Discuss traversal algorithms.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4.  Analyze insertion sort algorithm with an example.
5.  Discuss various operators in C. Give example.

6. Detail out dynamic memory allocation with an illustration.

PART C — (5 x 4 = 20 marks)
7.  Write short notes on FIVE of the following :
(a) Compare compiler and interpreter.
(b) What are the restrictions on processing of enumerated data type?
(¢) Discuss pointer to an array.
(d) Discuss on various storage classes in C.

(e) How to create a data file in C?

[P.T.O]
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(g)

Construct a binary tree with 9 nodes using Inorder — K,E,C,A,D,F,G.H,B
and Preorder — F A E K,C,D,H,G,B.

How to calculate worst and average case?

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)
(b)
(©
(d)
(e)
®
(®
(h)

Static variable.

Nested looping statement refers to?

Write the property of getch() and getche().
Brief on algorithm efficiency.

State the types of searching algorithms.
Define linked Iist.

What is graph?

State the difference between pre-decrement and pdst-decrement.
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Register No.

B.C.A., LL.B. (Hons.,) DEGREE (SEMESTER) EXAMINATIONS,

NOVEMBER 2017.
(For the candidates admitted from 2015 and 2016)
Second Year — Third Semester

OPERATING SYSTEMS AND MICROPROCESSOR AND ITS
APPLICATIONS

Time : 24 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
i
Answer TWO of the following in about 500 words each.

What are interrupts? Explain in detail about interrupt structure of
8085.

Describe operating system services with a neat.block diagram of a

general system architecture.

Define virtual memory and discuss how it is implemented by demand

paging?
PART B — (2 x 7= 14 marks)

_ Answer TWO of the following in about 300 words each.
Write notes on status flag.
Sketch the structure of Direct Memory Access in detail.
Discuss Authentication anc_l access control in Unix operating system.

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :
(a) Explain the various addressing modes 1n 8085.

(b) List out the maskable interrupts available in 8085.

[P.T.O.]



(¢ Compare 8085 and 8086.
(d) Characteristics of multiprocessor systems.

(e) State the difference between logical address and physical address
space,

(f)  Why are segmentation and paging sometimes combined into one
scheme?

() How hardware synchronization implemented?
PARTD —(6x2=12 marks)

8. Answer SIX of the following very briefly.
(a) How system-calls are used?
(b)  Define ‘Dispatch Latency’. )
(¢) What is meant by free space management?
(d) Wait() and Signal()
() Compare Emulator and Simulator.
(f) State INTR.
(g) What is time cycle?
(h) Difference between MOV and MVI.
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H 1434 HD4A

B.C.A., LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
. NOVEMBER 2017.

(For the candidates admitted during 2015)

Second Year — Fourth Semester

PRINCIPLES OF SOFTWARE ENGINEERING AND
SOFTWARE TESTING

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the fellowing in about 500 words eaph.

1. Elucidate the Phased Llfe Cycle Model in planning the development
process. y

4

2. Explain the various cohesion and coupling methods used in Software
[ design.

3. Discuss the Black box and White box testing techniques. Use suitable
examples for your explanation.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
2._ Discuss on software cost estimation techniques.

5. Elaborate the problems identified by respondents as important
management problems. :

6. State the advantages and disadvantages of Prototype model.

PART C — (5 x 4 = 20 marks)
7.  Write short notes on FIVE of the following :
(a) Need of Software Engineering.

(b) What is SRS document? What are the contents that SRS document
should contain?

3 (¢) Difference between the “Known Risks” and “Predictable Risks”.

[P.T.0.]
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(d)
(e)
69
()

User acceptance testing — Elucidate.
Remedies of test bugs.

Types of Testing Blindness.
Characteristics of path testing.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)

“(b)

()
(d)
(e)
®

(&
(h)

Fundamental activities of a software process.

What does Validation represent?
Characteristics of SRS.

Elements of Analysis model.

What is meant by software cost estimation?
What is COCOMO model?

Two levels of testing.

Define debugging.

H 1434
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H 1435 B0

B.C.A., LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2017.

(For the candidates admitted during 2015)

Second Year — Fourfh _Semester

RELATIONAL DATABASE MANAGEMENT SYSTEM (RDBMS)

- Time: 214 hours , Maximum : 70 marks

PART A — (2 X 12 = 24 marks)

}
Answer TWO of the following in about 500 words each.
1.  With suitable example, elucidate Database languages and its categories.

2.  Why Distributed Databases are so popular? Discuss its. architecture,
characteristics, advantages and disadvantages with suitable example.

3. How concurrency is performed? Explain the protocol that is used to
maintain the concurrency concept.

PART B — (2 x 7 = 14 marks)
s ' Answer TWO of the following in about 300 words each.

4. Define functional dependency. List and discuss the six inference rules
for functional dependencies.

-5.  Discuss the fundamentals about SQL.
6. INustrate the concept of Integrity Constraints with examples.

PART C — (5 x 4 = 20 marks)

7.  Write short notes on FIVE of the following :
(a) Advantages of DBMS.
(b) Entity Relationship Model.
(¢) Need of Normalization in DBMS.

[P.T.0.]
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(d)
()
€3]
()

Tuple Relational Calculus.

Various operations in Relational Algebra.

Distinguish between static hashing and dynamic hashing.

What are various states of transaction and also discuss its ACID

properties?

PARTD —(6x2=12 marks) |

Answer SIX of the following very briefly :

(@)
(b)
(©
(d)
(e)
(0
(2
(h)

Different types of database system user.

List the pitfalls in Relational Database Design.

Five applications of DBMS.
Define null values.

Method for delay deadlock.
List out types of failure.

Instance and schema.
What is view in SQL?

1?

H 1435




-

2.4
Register No. l—_m Tj

! H 1466 HD5A

B.C.A., LL.B. (Hons,) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2017.

(For the candidates admitted during 2015)
Third Year — Fifth Semester

OBJECT ORIENTED PROGRAMMING LANGUAGE - JAVA & WEB
' TECHNOLOGY

Time : 2% hours Mazximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words eacht

1. Explain the different types of inheritance in object oriented program
with example each.

2 Analyse web server architecture with the help of suitable diagram.
Differentiate between client side and server side scripting.

3 Define thread and explain life cycle of a thread.,
PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4 Write a Java script to design a student login page for the university
website.

5. Explain try and catch blocks in .eXception_handling.
6. Describe any seven string funét_ions with an example program.
PART C — (5 x 4 = 20 marks)
| 7. Write short notes on FIVE of the following :

(a) Differentiate between continue and break statements with an
example each. '

1 (b) Define DOM.




—

(d) Define polymorphism. Give exampla.

(c) Define JVM.

() Why there is no use of pointers in Jgyv42
(f) HTML basic tags.
(g) Define URLs.

PARTD — (6 x 2=13 marks)
S. Answer SIX of the following very briefly.
(a) Garbage collection in java.
(b) What is the role of ISP?
(c) Home Page.
(d) Compére while and do-while.
(e) What is CSS?
(f)  Define final keyword.
(g)  What is the difference betweeh == gpnd== =9

.(h) Abstract class.
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Register No.

B.C.A,, LL.B (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2017.

(For the candidates.admitted during 2015)
. Third Year — Fifth Semester
VCQMPUTER NETWORKS AND NETWORK SECURITY

Time : 21 hours : Maximum : 70 marks

_ PART A —(2 % 12 = 24 marks)
Answer TWO of the following in about 500 words each:

; : ‘
What is OSI Model? Explain the functions, protocols and
services of each layer.

‘Evaluate the various schemes of Error Detection é.nd Correction in the
Data Link Layer.

Discuss the design principles of block cipher and its modes of operation.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each:

Write short notes on various types of transmission media, highlighting
their merits and demerits.

Elucidate the three way handshake protocol to establish the transport
level connection.

Explam RSA algorlthm and 1dent1fy how i pr0v1des a secured
communication in a network.

PART C— (5 x 4= 20 marks)
Write short notes on FIVE of the following :

| (a) Transmission Modes, S .

~ (b) ARPANET.

(c) What‘is IP Addressing? How it is clagsified?

[P.T.0.]




(d)

(e) ,

(h
(8)

Stop and Wait Protocol.
Algorithm for Adaptive retransmission.
Network Layer Security.

Transmission Control Mechanism.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly:

(a)
(b)
(c)
(d)
(e)
()
(8)
(h)

Network Topology.

Functions of SMTP.

Classical Encryption Techniques.
Define Collision detection.

Four prominent wireless technologies.

Fxplain Firewall;

Discuss the three events involved in the connection.

Specify the four categories of security threads.

SSERTT TR
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